Addal247

UGC NET
EDUCATION

QUESTION PAPER 2021


dell
Stamp


UGC NET 2021 Education Shift 1

Topic:- 03rd_Set7_A

1)



[Question ID = 2579][Question Description = Q01_GP_24NOV_S1_SHAAN_Shift1]
1. 1[Option ID = 10313]
2. 2 [Option ID = 10314]
3. 3 [Option ID = 10315]
4. 4[Option ID = 10316]

Correct Answer :-
e 1 [Option ID = 10313]

[Question ID = 2580][Question Description = Q02_GP_24NOVY_S1_SHAAN_Shift1]



. 1[Option 1D = 10317]
. 2 [Option ID = 10318]
. 3[Option ID = 10319]
. 4[Option ID = 10320]

oW e

Correct Answer :-
e 1 [Option ID = 10317]

[Question ID = 2581][Question Description = Q03_GP_24NOV_S1_SHAAN_Shift1]



. 1[Option 1D = 10321]
. 2 [Option ID = 10322]
. 3[Option ID = 10323]
. 4[Option ID = 10324]

oW o =

Correct Answer :-
e 1 [Option ID = 10321]



[Question ID = 2582][Question Description = Q04_GP_24NOV_S1_SHAAN_Shift1]
1. 1[Option ID = 10325]
2. 2 [Option ID = 10326]
3. 3 [Option ID = 10327]
4. 4[Option ID = 10328]

Correct Answer :-
e 1 [Option ID = 10325]



[Question ID = 2583][Question Description = Q05_GP_24NOV_S1_SHAAN_Shift1]
1. 1[Option ID = 10329]
2. 2 [Option ID = 10330]
3. 3 [Option ID = 10331]
4. 4[Option ID = 10332]

Correct Answer :-
e 1 [Option ID = 10329]

Topic:- 03rd_Set7_B

1)

[Question ID = 2584][Question Description = Q06_GP_24NOVY_S1_SHAAN_Shift1]
1. 1 [Option ID = 10333]
7. 2 [Option ID = 10334]
3. 3[Option ID = 10335]
4. 4[Option ID = 10336]

Correct Answer :-
e 1 [Option ID = 10333]



[Question ID = 2585][Question Description = Q07_GP_24NOV_S1_SHAAN_Shift1]
1. 1[Option ID = 10337]
2. 2 [Option ID = 10338]
3. 3 [Option ID = 10339]
4. 4[Option ID = 10340]

Correct Answer :-
e 1 [Option ID = 10337]

[Question ID = 2586][Question Description = Q08_GP_24NOV_S1_SHAAN_Shift1]
1. 1[Option ID = 10341]
2. 2 [Option ID = 10342]
3. 3 [Option ID = 10343]



4, 4[Option ID = 10344]

Correct Answer :-
e 1 [Option ID = 10341]

[Question ID = 2587 ][Question Description = Q09_GP_24NOVY_S1_SHAAN_Shift1]
1. 1 [Option ID = 10345]
7. 2 [Option ID = 10346]
3. 3[Option ID = 10347]
4. 4[Option ID = 10348]

Correct Answer :-
o 1 [Option ID = 10345]



[Question ID = 2588][Question Description = Q10_GP_24NOVY_S1_SHAAN_Shift1]
1. 1 [Option ID = 10349]
2. 2 [Option ID = 10350]
3. 3[Option ID = 10351]
4. 4[Option ID = 10352]

Correct Answer :-
e 1 [Option ID = 10349]

[Question ID = 2589][Question Description = Q11_GP_24NOV_S1_SHAAN_Shift1]
1. 1[Option ID = 10353]
2. 2 [Option ID = 10354]
3. 3 [Option ID = 10355]
4. 4[Option ID = 10356]

Correct Answer :-
e 1 [Option ID = 10353]



[Question ID = 2590][Question Description = Q12_GP_24NOVY_S1_SHAAN_Shift1]
1. 1 [Option ID = 10357]
7. 2 [Option ID = 10358]
3. 3[Option ID = 10359]
4. 4[Option ID = 10360]

Correct Answer :-
e 1 [Option ID = 10357]



[Question ID = 2591][Question Description = Q13_GP_24NOV_S1_SHAAN_Shift1]
1. 1[Option ID = 10361]
2. 2 [Option ID = 10362]
3. 3 [Option ID = 10363]
4. 4[Opticn ID = 10364]

Correct Answer :-
e 1 [Option ID = 10361]

[Question ID = 2592][Question Description = Q14_GP_24NOV_S1_SHAAN_Shift1]



. 1[Option 1D = 10365]
. 2 [Option ID = 10366]
. 3[Option ID = 10367]
. 4[Option ID = 10368]

oW e

Correct Answer :-
e 1 [Option ID = 10365]

[Question ID = 2593][Question Description = Q15_GP_24NOV_S1_SHAAN_Shift1]
1. 1[Option ID = 10369]
2. 2 [Option ID = 10370]
3. 3 [Option ID = 10371]
4. 4[Option ID = 10372]

Correct Answer :-
e 1 [Option ID = 10369]



[Question ID = 2594][Question Description = Q16_GP_24NOVY_S1_SHAAN_Shift1]
1. 1 [Option ID = 10373]
7. 2 [Option ID = 10374]
3. 3[Option ID = 10375]
4. 4[Option ID = 10376]

Correct Answer :-
e 1 [Option ID = 10373]

[Question ID = 2595][Question Description = Q17_GP_24NOV_S1_SHAAN_Shift1]
1. 1[Option ID = 10377]
2. 2 [Option ID = 10378]
3. 3 [Option ID = 10379]
4. 4[Option ID = 10380]

Correct Answer :-
e 1 [Option ID = 10377]



[Question ID = 2596][Question Description = Q18_GP_24NOV_S1_SHAAN_Shift1]
1. 1[Option ID = 10381]
2. 2 [Option ID = 10382]
3. 3 [Option ID = 10383]
4. 4[Option ID = 10384]

Correct Answer :-
e 1 [Option ID = 10381]



[Question ID = 2597][Question Description = Q19_GP_24NOV_S1_SHAAN_Shift1]
1. 1[Option ID = 10385]
2. 2 [Option ID = 10386]
3. 3 [Option ID = 10387]
4. 4[Option ID = 10388]

Correct Answer :-
e 1 [Option ID = 10385]

[Question ID = 2598][Question Description = Q20_GP_24NOV_S1_SHAAN_Shift1]
1. 1[Option ID = 10389]
2. 2 [Option ID = 10390]
3. 3 [Option ID = 10391]
4. 4[Option ID = 10392]

Correct Answer :-
e 1[Option ID = 10389]

[Question ID = 2599][Question Description = Q21_GP_24NOVY_S1_SHAAN_Shift1]
1. 1 [Option ID = 10393]
2. 2 [Option ID = 10394]
3. 3[Option ID = 10395]
4. 4[Option ID = 10396]

Correct Answer :-
e 1 [Option ID = 10393]



[Question ID = 2600][Question Description = Q22_GP_24NOV_S1_SHAAN_Shift1]
1. 1[Option ID = 10397]
2. 2 [Option ID = 10398]
3. 3 [Option ID = 10399]
4. 4[Option ID = 10400]

Correct Answer :-
o 1 [Option ID = 10397]

[Question ID = 2601][Question Description = Q23_GP_24NOV_S1_SHAAN_Shift1]
1. 1[Option ID = 10401]
2. 2 [Option ID = 10402]
3. 3 [Option ID = 10403]
4. 4[Option ID = 10404]

Correct Answer :-
e 1 [Option ID = 10401]

[Question ID = 2602][Question Description = Q24_GP_24NOVY_S1_SHAAN_Shift1]
1. 1 [Option ID = 10405]
2. 2 [Option ID = 10406]
3. 3[Option ID = 10407]
4. 4[Option ID = 10408]

Correct Answer :-
e 1 [Option ID = 10405]

[Question ID = 2603][Question Description = Q25_GP_24NOV_S1_SHAAN_Shift1]
1. 1[Option ID = 10409]
2. 2 [Option ID = 10410]
3. 3[Opticon ID = 10411]



4. 4[Option ID = 10412]

Correct Answer :-
e 1 [Option ID = 10409]

[Question ID = 2604][Question Description = Q26_GP_24NOVY_S1_SHAAN_Shift1]
1. 1 [Option ID = 10413]
2. 2 [Option ID = 10414]
3. 3[Option ID = 10415]
4. 4[Option ID = 10416]

Correct Answer :-
e 1 [Option ID = 10413]



[Question ID = 2605][Question Description = Q27_GP_24NOVY_S1_SHAAN_Shift1]

1. 1[Option ID = 10417]
2. 2 [Option ID = 10418]
3. 3 [Option ID = 10419]
4. 4[Option ID = 10420]

Correct Answer :-
e 1 [Option ID = 10417]

[Question ID = 2606][Question Description = Q28_GP_24NOV_S1_SHAAN_Shift1]

1. 1[Option ID = 10421]
2. 2 [Option ID = 10422]
3. 3 [Option ID = 10423]
4. 4[Option ID = 10424]

Correct Answer :-
e 1 [Option ID = 10421]



[Question ID = 2607][Question Description = Q29_GP_24NOV_S1_SHAAN_Shift1]
1. 1[Option ID = 10425]
2. 2 [Option ID = 10426]
3. 3 [Option ID = 10427]
4. 4[Option ID = 10428]

Correct Answer :-
e 1 [Option ID = 10425]

[Question ID = 2608][Question Description = Q30_GP_24NOVY_S1_SHAAN_Shift1]
1. 1 [Option ID = 10429]
2. 2 [Option ID = 10430]
3. 3[Option ID = 10431]
4. 4[Option ID = 10432]



Correct Answer :-
o 1 [Option ID = 10429]

[Question ID = 2609][Question Description = Q31_GP_24NOV_S1_SHAAN_Shift1]
1. 1[Option ID = 10433]
2. 2 [Option ID = 10434]
3. 3 [Option ID = 10435]
4. 4[Option ID = 10436]

Correct Answer :-
e 1 [Option ID = 10433]



[Question ID = 2610][Question Description = Q32_GP_24NOV_S1_SHAAN_Shift1]
1. 1[Option ID = 10437]
2. 2 [Option ID = 10438]
3. 3 [Option ID = 10439]
4. 4[Option ID = 10440]

Correct Answer :-
e 1 [Option ID = 10437]

[Question ID = 2611][Question Description = Q33_GP_24NOV_S1_SHAAN_Shift1]
1. 1[Option ID = 10441]
2. 2 [Option ID = 10442]
3. 3 [Option ID = 10443]
4. 4[Option ID = 10444]

Correct Answer :-
e 1 [Option ID = 10441]



[Question ID = 2612][Question Description = Q34_GP_24NOVY_S1_SHAAN_Shift1]
1. 1 [Option ID = 10445]
2. 2 [Option ID = 10446]
3. 3[Option ID = 10447]
4. 4[Option ID = 10448]

Correct Answer :-
e 1 [Option ID = 10445]



[Question ID = 2613][Question Description = Q35_GP_24NOVY_S1_SHAAN_Shift1]
1. 1 [Option ID = 10449]
2. 2 [Option ID = 10450]
3. 3[Option ID = 10451]
4. 4[Option ID = 10452]

Correct Answer :-
o 1 [Option ID = 10449]

[Question ID = 2614][Question Description = Q36_GP_24NOVY_S1_SHAAN_Shift1]
1. 1 [Option ID = 10453]
7. 2 [Option ID = 10454]
3. 3[Option ID = 10455]
4. 4[Option ID = 10456]

Correct Answer :-
e 1 [Option ID = 10453]



[Question ID = 2615][Question Description = Q37_GP_24NOVY_S1_SHAAN_Shift1]
1. 1[Option ID = 10457]
7. 2 [Option ID = 10458]
3. 3[Option ID = 10459]
4. 4[Option ID = 10460]

Correct Answer :-
e 1 [Option ID = 10457]



[Question ID = 2616][Question Description = Q38_GP_24NOVY_S1_SHAAN_Shift1]
1. 1 [Option ID = 10461]
2. 2 [Option ID = 10462]
3. 3[Option ID = 10463]
4. 4[Option ID = 10464]

Correct Answer :-
e 1 [Option ID = 10461]

[Question ID = 2617][Question Description = Q39_GP_24NOV_S1_SHAAN_Shift1]
1. 1[Option ID = 10465]
2. 2 [Option ID = 10466]
3. 3 [Option ID = 10467]
4. 4[Option ID = 10468]

Correct Answer :-
e 1 [Option ID = 10465]



[Question ID = 2618][Question Description = Q40_GP_24NOV_S1_SHAAN_Shift1]
1. 1[Option ID = 10469]
2. 2 [Option ID = 10470]
3. 3 [Option ID = 10471]
4. 4[Option ID = 10472]

Correct Answer :-
e 1 [Option ID = 10469]

[Question ID = 2619][Question Description = Q41_GP_24NOVY_S1_SHAAN_Shift1]
1. 1 [Option ID = 10473]
2. 2 [Option ID = 10474]
3. 3[Option ID = 10475]
4. 4[Option ID = 10476]

Correct Answer :-
e 1 [Option ID = 10473]



37)

[Question ID = 2620][Question Description = Q42_GP_24NOV_S1_SHAAN_Shift1]
1. 1[Option ID = 10477]
2. 2 [Option ID = 10478]
3. 3 [Option ID = 10479]
4. 4[Opticn ID = 10480]

Correct Answer :-
e 1 [Option ID = 10477]

[Question ID = 2621][Question Description = Q43_GP_24NOV_S1_SHAAN_Shift1]
1. 1[Option ID = 10481]
2. 2 [Option ID = 10482]
3. 3 [Option ID = 10483]
4. 4[Option ID = 10484]

Correct Answer :-
e 1 [Option ID = 10481]



[Question ID = 2622][Question Description = Q44_GP_24NOVY_S1_SHAAN_Shift1]
1. 1 [Option ID = 10485]
2. 2 [Option ID = 10486]
3. 3[Option ID = 10487]
4. 4[Option ID = 10488]

Correct Answer :-
e 1 [Option ID = 10485]

[Question ID = 2623][Question Description = Q45_GP_24NOVY_S1_SHAAN_Shift1]

1. 1[Option ID = 10489]
2. 2 [Option ID = 10490]
3. 3 [Option ID = 10491]
4. 4[Option ID = 10492]

Correct Answer :-
e 1 [Option ID = 10489]

Topic:- 03rd_Set7_C

1)



[Question ID = 2624][Question Description = Q46_GP_24NOV_S1_SHAAN_Shift1]
1. 1[Option ID = 10493]
2. 2 [Option ID = 10494]
3. 3 [Option ID = 10495]
4. 4[Option ID = 10496]

Correct Answer :-
e 1 [Option ID = 10493]



[Question ID = 2625][Question Description = Q47_GP_24NOVY_S1_SHAAN_Shift1]
1. 1 [Option ID = 10497]
2. 2 [Option ID = 10498]
3. 3[Option ID = 10499]
4. 4[Option ID = 10500]

Correct Answer :-
e 1 [Option ID = 10497]



[Question ID = 2626][Question Description = Q48_GP_24NOV_S1_SHAAN_Shift1]
1. 1[Option ID = 10501]
2. 2 [Option ID = 10502]
3. 3 [Option ID = 10503]
4. 4[Option ID = 10504]

Correct Answer :-
e 1 [Option ID = 10501]



[Question ID = 2627 ][Question Description = Q49_GP_24NOVY_S1_SHAAN_Shift1]
1. 1[Option ID = 10505]
2. 2 [Option ID = 10506]
3. 3[Option ID = 10507]
4. 4[Option ID = 10508]

Correct Answer :-






[Question ID = 2628][Question Description = Q50_GP_24NOVY_S1_SHAAN_Shift1]
1 [Option ID = 10509]
2 [Option ID = 10510]
. 3[Option ID = 10511]
4 [Option ID = 10512]

Howo

Correct Answer :-
e 1 [Option ID = 10509]

Topic:- Education_SH1_A

1) Aresearcher conducted a study to have initial idea of scope and magnitude of the problem under study and to test the
feasibility of more extensive research. Such a study is called:

g olerapel of 3IERIG d HARN @ [arane wd ubamr o ser fémr ol Yrg @yl @ e ar et onad sigiiened $l Wl &l stida el
@ fore uen srezRIel Haiferd fipan 39 Um? @ SRR @ T &

[Question ID = 2929][Question Description = S1_qSNz_PG_EDU_Q01]

1. Explanatory study/=m=mae azmm

[Option ID = 11713]
2. Confirmatory study /=i a1

[Option ID = 11714]
3. Descriptive study /e s=ro

[Option ID = 11715]
4. Exploratory study/ s asmrs

[Option 1D = 11716]
Correct Answer :-
o Explanatory study/=m==ms a1t

[Option 1D = 11713]

2) Anindependent variable in an experimental study, which is manipulated by the investigator at his will, is technically
known as:

TP YR KRGl # Uop Facdd =, 5133 sledw® of siueil 31 A dedid i &, @I dwolldl U H Siloll SIidl & !

[Question ID = 2930][Question Description = S1_qSNz_PG_EDU_Q02]
1. Moderator variable/ofsr=fr ==

[Option ID = 11717]
2. Treatment variable /== ==

[Option 1D = 11718]
3. Interfering variable foferer ==

[Opticn 1D = 11719]
4. Confounding variable/smuz =

[Option 1D = 11720]
Correct Answer :-
o Moderator variable/otHArTE ==

[Option 1D = 11717]

3) If the distribution of scores obtained by a group of examinees on a test is skewed negatively, then which of the following
statements is false?

afe feesft asigror & ufenfRil @ HaE ST g siesl o1 faasor Fuee wU W v o i farad @1, A fosaferiad & A Siar AT e HWa
ol 87

[Question ID = 2931][Question Description = S1_qSNz_PG_EDU_Q03]

1. Most of the examinees crossed the passing cut-score of the test. /afErerr wtanf2R & wer % soiimiT-=1- 37 =1 e =2 Prr

[Option ID = 11721]
2. The average difficulty level of the test-items was low. /lsm-omel 1 Son-sRorE -0 8 =1

[Option ID = 11722]
3. The mean score of the examinees was more than the median score. /osianf2kd & ffaeT- IR 21 w=G! AF-YAE =1

[Option ID = 11723]
4. The modal value was less than the mean, but more than median. /egcrs fraaEs Ao =1, Affsor AlfamrT 3 aiffrF =1

[Option ID = 11724]
Correct Answer :-
o Most of the examinees crossed the passing cut-score of the test. /affrerer wigaf2kr & wilsr & srilvir-ors- 39 <1 We &7 Brr

[Option 1D = 11721]



4) The 'case study’ method is mostly involved in which of the following qualitative research designs?
‘cuftn sezrIal TalRr fowetleiRan 3 3 iRz e SpuicHes sigpHene-yreu d onfder & 7

[Question ID = 2932][Question Description = S1_qSNz_PG_EDU_Q04]
1. Phenomenological Design /ticoragete s
[Option ID = 11725]
2. Ethnegraphical Design /oranffgo =y
[Option ID = 11726]
3. Grounded Theory Design /gferc! g s

[Option 1D = 11727]
4. Narrative Design favizmcas g

[Opticn ID = 11728]

Correct Answer :-
e Phenomenological Design /acora#iE grg
[Option ID = 11725]
5) Which of the following statements defines the basic philosophy, theory, and practice of teaching children according to
critical pedagogy?

Torgatfeti3aa & 2 ol I Dol [aducra®- R @ g dxil @l ueld @ 3 colel, Bigia iy yftpzr @ ulyile wwn & ?

[Question ID = 2933][Question Description = S1_qSNz_PG_EDU_QO05]
1. Emphasis on concepts like compassion, kind-heartedness and healthy dialogue to ensure children'’s wellbeing and social development. f=r=it <1 s
Sy i STt et ®ed & Pr w20, oo di sase-eds Hei aenural o Sl Sor

[Option ID = 11729]
2. Questioning dominant beliefs or world views about knowledge and learning, and discover deeper meaning and reot causes of the phenomena. /=it
7 ifEEE =13 # gEeT-AoEsl = I 9 A1l W e e, dilr didEcer % ses sl Al s e vl I e wor

[Option ID = 11730]
3. Accepting multicultural needs to create equally comfortable leaming environment for all childem irrespective of cultural and social origin /a=gftmr
Sty AR STt =T ol 3591 fHor =3l S ==t &y Sgog e Sae sl 1 30l 39 3 SRFCERF SR e SoTal 1 SEeSFl B S35 T FIal

[Option ID = 11731]
4. Challenges traditional beliefs about knowledge, look for alternatives, and create knowledgea through thoughts, expearience and dialogue. f=mor =5 =y #
i HeEral ® 1 ol 5 8, e I el i 8, div e, g il s AR A S0 1 gac Bl 8

[Option ID = 11732]

Correct Answer :-

e Emphasis on concepts like compassion, kind-heartedness and healthy dialogue to ensure children's wellbeing and social development. /==l 51 sen
iz SEnRE B Rt w30+ TR =0T, oA S Sose-SaEn St SaemuE O S S3r

[Opticn ID = 11729]

6) An engineering company wants to recruit fresh graduates for its specific nature of work. The company decides to
conduct a selection test. What kind of test would be most appropriate for this purpose?

wop if¥rriiedhl wuell srudl faldee ywir @ orl & 1w o yoael Bl wdl o aedl 8 wuell wrzier udlsn RNBIA eyl @I fowie oldl 3 g0
Igeu o ferw opw ave @1 uT e IR el ?

[Question ID = 2934][Question Description = S1_qSNz_PG_EDU_Q06]
1. Mental Ability Test/mraie smar wiamm

[Opticon ID = 11733]
1. Achievement Test/soofer mitsoT

[Option ID = 11734]
3. Aptitude Test/ zfE1smeT s

[Option ID = 11735]
4. Personality Assessment/==1teca Feemeal

[Option 1D = 11738]
Correct Answer :-
® Mental Ability Test/srafams smar wiamr

[Option 1D = 11733]

7) The Portfolio Assessment technique, as a part of pedagogical practices, is used for the purpose of evaluating students
and involves recording:

UICBITeRIT-3Md5cTel doile, ST YeIrsil @ U HPT @ 34 3, Bl @ Hedidd @ fere qipT &t =Iedl 3
[Question ID = 2935][Question Description = S1_qSNz_PG_EDU_Q07]



1. Learning cutcomes after completion of a course. /aoama T3 & =10 HfEFH TR

[Option ID = 11737]
2. Readiness for an impending competitive examination. /oF s=o OiemiE witar & Bw ST sy teoear

[Option 1D = 11738]
3. Laboratory work after the end of a semester. for =0 & & = =70 TRIFIOTCT B

[Option 1D = 11739]
4. Progress in learning and performance over a period of time. /o F7T @l # affem iy grgfor # werfr

[Option 1D = 11740]
Correct Answer :-
e Learning outcomes after completion of a course. /uoema e & =I5 SfEEH TioMTT

[Option ID = 11737]

8) Flander's Interaction analysis technique used for analysis of teaching-learning situation in the classroom, as a feedback
mechanism, mainly takes into account:

uci 33 o aie:fpan ReeSoul amolie oI JURIST wgir # RIgr-siRe ot b o Rpsuur o> forg e s1er &, go gfeyfte g @ »u #, g0
®U A ealel 3 TE &

[Question ID = 2936][Question Description = S1_qSNz_PG_EDU_Q08]
1. Non-verbal behavior of teacher and the students /ftsrr sz =l =1 st-Ailvar wrEn

[Option 1D = 11741]
2. Only verbal behaviour of teacher in the classroom fassm #H fimmr w1 Fam Ar =mE=n

[Option ID = 11742]
3. Verbal behavicur of the teacher and students/f@iser &y =gl @1 Hias w=@ear

[Option ID = 11743]
4. Both verbal and non-verbal behaviour of teacher and students/Bigmr &k =il & e i d-dilas clolf ogaen

[Option ID = 11744]
Correct Answer :-
o Non-verbal behavier of teacher and the students/fSizrr iy =gl =1 fe-#iltas ogaeR

[Option 1D = 11741]

9) The system of objective analysis of written or spoken verbal communications is known as:
ferfiaa @ I Hillaw Har @ awgfes faeesour 6 guireil ool fodsicriiog o 34U 3 e e &:

[Question ID = 2937][Question Description = S1_qSNz_PG_EDU_Q09]
1. Interaction Analysis/zmfReer FefmemT

[Option ID = 11745]
2. Profile Analysis /ufi=afEer Rrdwor

[Option ID = 11746]
3. Content Analysis /free o

[Option ID = 11747]
4. Factor analysis /o f&em

[Option 1D = 11748]

Correct Answer :-
e Interaction Analysis /e feduor

[Option 1D = 11745]

10) Which of the following terms best indicates the intent of a qualitative research?
A. Understanding

B. Explanation

C. Description

D. Exploration

E. Interpretation

Tordotferiiad # A wiel AT Uc SPICHAD I[HEel B I&9A Bl Haldd U H HBId waer & ?
A, sadlerer

B. yucdwaur

C. Taaur

D. seder



E. o=

[Question ID = 2938][Question Description = 51_qSNz_PG_EDU_Q10]
1. A, CandD/A, C Sz D

[Option 1D = 11749]
2. A, DandE/A,D S E

[Opticn ID = 11750]
3. B,CandD/B, C =D

[Opticn ID = 11751]
4. B,DandE/B, D awE

[Option ID = 11752]
Correct Answer :-
e A, CandD/A,CdizD

[Opticn ID = 11749]

11) Which from the following are parts of the purpose of quantitative research?
A. Understanding of cultural traditions

B. Discovery of relationships among variables

C. Interpretation of human relationships

D. Confirmation of hypotheses

E. Generalization of results to other situations

forrorferiRae of 31 Pial  UbyATVIICHT- gl 95 IE9T T HIET & 7

A, AlFpie uFasl e Jaser

B. =3t & &t SEel T

C. sreE el o ==

D. =foemarsi T gite

E. seer afufBeffel & ufwomaAl =1 srHArssis oo

[Question ID = 2939][Question Description = S1_qSNz_PG_EDU_Q11]
1. A, CandD/A,C & D

[Option ID = 11753]
2. A, BandE/A,B div E

[Opticn ID = 11754]
3. B,Cand D/B, C i D

[Opticn ID = 11755]
4. B,Dand E/B ,D &z E

[Opticn ID = 11756]

Correct Answer :-
e A, CandD/A,C 3z D

[Opticn ID = 11753]

12) Which of the following statistical techniques may be successfully used to analyse research data available on ordinal
scale only?

A. Quartile Deviation

B. Student'’s t-test

C. Percentile Ranks

D. Chi-square test

E. Spearman's correlation method

Choose the correct answer from the options given below.

Torgatteri3aa & 2 wlar HI Hil¥crdbla dwollel @I surer dsad AT ATUll U Suelee] sglHeNal 31 @I aesuvr wrol @ ferw Abcrrryda [epar
SIL Wl & 7

A. Tgdae firrerer
B. oy w1 &-&rc
C. o gjuit



D. wE-raari udlerr
E. Fikzmiier &t Iadaer fafir
ofld 2w s1e fawedl df A 1El 3ar Ylorw

[Question ID = 2940][Question Description = S1_qSNz_PG_EDU_Q12]
1. B.DandE/B,D diz E

[Option 1D = 11757]
2. A, CandE/A, Cair E

[Option ID = 11758]
3. A,BandD/A, B D

[Option 1D = 11759]
4. B,Cand E/B, C o E

[Option ID = 11760]
Correct Answer :-
e B.DandE/B,D v E

[Opticn ID = 11757]

13) Which of the following statements are true for portfolio assessment technique used for performance evaluation of
students?

A. Assess students' growth and achievement over a period of time
B. Scoring process is simple, reliable and valid

C. Motivation and involment of students in learning is enhanced

D. Enable students to evaluate their own performance and products
E. The process of operation is less-demanding and time-saving

Choose the correct answer from the options given below.

Dhjl @ Yoela-Feaiocd o5 forw aIeT &I ol arcll UIPhIeRI sisaar awelles @ fore forsafafiaa & 3 wia A1 waa Jé & ?
A, v WIRI-3Eil @ 96 oIl B giy sl sucleer @ sraxter @i

B. yraies yitpen wvet, ferawollr siiy der &

C. s & ol Bl Yoo siiz welcrd] @ agr s 3

D. ol @l 31yl ¥Rl @ ygeld sliv scue] @I Jelicval ®rol # HEH dollell

E. yeietel <&l gitnen ol snagraser drell siiz a1 &l aad @l amefl &

o w7 et # 3wl oo g

[Question ID = 2941][Question Description = S1_qSNz_PG_EDU_Q13]
1. A, CandD/A,C 5 D

[Option 1D = 11761]
7. A, B,andE/A,B T E

[Option 1D = 11762]
3. B,DandE/B,D 4 E

[Option 1D = 11763]
4. B,CandD/B, C i D

[Option 1D = 11764]

Correct Answer :-
e A, CandD/A,C iz D

[Option 1D = 11761]

14) Which of the following are the characteristics of criteron-referenced-interpretation of test scores?

A. Achievement of specific skills or concepts by each individual learner is assessed.

B. Instructional objectives are based on identified skills, rather than on broader learning.

C. Test-items discriminate between examinees in terms of their relative postions in the group tested.

D. Scores are expressed in terms of percentile ranks or stanines to ensure inter-examinee comparison.

E. An examinee can compare his own performance in terms of development of skills over testing occasions.

Choose the correct answer from the options given below.

Totl¥etatieil3ae 3 A wler wilsivr-yrHie &I forau-sHshia-cnzoar &l faguad 3 7



A. g caftoera el oF gt fafdree-wie am sraenzuiaii & Iueieer or spelal fopar ST &

B. 3lgIcollriiep 389 U URPIH @ d6lRl Ustlol 31 @iglel U3 uenf¥ sid &

C. wigror-urg wsigniRiH o dikn uwsigiorn fivg s1e g 3 Sora> HIUGT Feiel o> oM 3 SoHa mad &

D. yrrio sicre-udlgnedl geen yielPua ol @ fére erme gpoll ar 3efoter @ wu i sifficrn &

E. won udlaredl udlzior o sl ur @it @ e & #eed # 3l ¥e=i @ ygold Bl geiell @2 Hwodar &
ofir fow o1 froseul & A HEl 307 T W6l P3 :

[Question ID = 2942][Question Description = S1_qSNz_PG_EDU_Q14]
1. B,Dand E/B, D oz E

[Option ID = 11767]
2. B, Cand D/B, Caz D

[Option ID = 11768]
3. A,BandE/A, B airE

[Option ID = 11766]
4. A, CandE/A, CanE

[Option ID = 11765]
Correct Answer :-
e A,CandE/A, CdixE

[Option 1D = 11765]

15) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A : The value of reliability coefficient of a test varies from 0 to +1, but can not be negative.
Reason R: The correlation of a set of scores with itself or a set of parallel scores can not be negative.

In light of the above statements, choose the correct answer from the options given below.

ofl<l [&w s1% ©I wuel &, war @l ifiiwad A D wu i 37 g3 @l el R @ wu i sl Reen sk &
atfircserer A:  foaft ufigror &t Rreaweiierr e o1 @it 0 A +1 @ fice EIa1 &, difirel TPRIEHD oél & Aedl
@R R: YIHics o5 Mg Pl Fa o5 HI Al HAlollorl? YIHIP HHE D HI HEHGE IPRICHD oldl 8l Hapell
IUIITh @il @ YTl |, of ikl 16T a1¢ farmedl 3 3 WET s gere

[Question ID = 2943][Question Description = S1_qSNz_PG_EDU_Q15]
1. Both A and R are true and R is the correct explanation of A/A 3z R it =8t € o R, A Fr =2t e &

[Option ID = 11769]

2. Both A and R are true but R is NOT the correct explanation of A/A 3 R #ioit =t & &b R, A <51 et woreem ot &
[Option ID = 11770]

3. Ais true but R is false/A =& 2 @f%or R 2@l <ol 2

[Option ID = 11771]
4, Ais false but R is true/A st ol 2 e R 2@t 2

[Option ID = 11772]

Correct Answer :-
e Both A and R are true and R is the correct explanation of A/A Gz R Tlait =@ 2 3 R, A &1 =@l oaeer 2
[Option ID = 11769]

Topic:- Education_SH1_B

1 ) Read the passage below and answer the question

One of the major weaknesses of the existing educational system is that it places an almost exhaustive reliance on full-time instruction and does not
develop adequately the two alternative channels of part-time and private study or own-time education. It has to be remembered that reliance on full-time
education as the sole channel of instruction often divides the life of an individual into three water-tight and sharply divided stages: a pre-school stage of
non-formal education or work, a school stage of full-time education, and a post-school stage of full-time work and no education. In a medernizing and
rapidly changing society, education should be regarded, not as a terminal, but as a life-long process. It should besgin informally in the home itself, and
thereafter it should be the ultimate objective of the national policy to strive to bring every individual under the influence of the formal system of
education as early as possible, and to keep him under it, directly or indirectly, throughout his life. Similarly, there should be no water-tight separation
between work and education at any stage of man’s life, but only a relative shift of emphasis. An individual under full-time education should have some
work-experience as an integral part of his education itself; and every full-time worker should have the inclination, leisure and means to continue his

education still further. In the same way, the transition from one stage to another should not be abrupt.
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The major emphasis of the contents of the passage is on:
sreniol b1 faert-arg T Ygiza 9 foe e &:

[Question ID = 2944][Question Description = S1_qSNz_PG_EDU_Q16]
1. Pre-school and childheod education /g fEerereitar sty swwaraser 1 Biar

[Option 1D = 11773]

2. Vocational and skill-basad education/=m=Emr s e amEnt fEer
[Option 1D = 11774]

3. Life-long and continuing education /Eeoreit Sy Bras fEer

[Option ID = 11775]
4, Workers’ skill up-gradation training/ o] =1 Flert soormst Waism

[Option 1D = 11776]

Correct Answer :-
e Pra-school and childhood education /o= fencrer oy sucarazer &1 Ber
[Option ID = 11773]

2) Read the passage below and answer the question

One of the major weaknesses of the existing educational system is that it places an almost exhaustive reliance on full-time instruction and does not
develop adequately the two alternative channels of part-time and private study or own-time education. It has to be remembered that reliance on full-time
education as the sole channel of instruction often divides the life of an individual into three water-tight and sharply divided stages: a pre-school stage of
non-formal education or work, a school stage of full-time education, and a pest-school stage of full-time work and no education. In a medernizing and
rapidly changing society, education should be regarded, not as a terminal, but as a life-long process. It should begin informally in the home itself, and
thereafter it should be the ultimate objective of the national policy to strive to bring every individual under the influence of the formal system of
education as early as possible, and to keep him under it, directly or indirectly, throughout his life. Similarly, there should be no water-tight separation
between work and education at any stage of man’s life, but only a relative shift of emphasis. An individual under full-time education should have some
work-experience as an integral part of his education itself; and every full-time worker should have the inclination, leisure and means to continue his

education still further. In the same way, the transition from one stage to another should not be abrupt.

il fRw 91w arerier w1 U 3iiT yrer @1 =7 3
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Which alternatives to full-time education are suggested in this passage?
s srener # yolesifies e & wia 2 Reseu game sme 37

[Question ID = 2945][Question Description = S1_qSNz_PG_EDU_Q17]
1. Both school-based and private study

[Option ID = 11777]
2. Regular evening and night classes

[Option 1D = 11778]
3. Evening classes and personal self-study

[Option 1D = 11779]
4. Half-day school and half-day work

[Option 1D = 11780]



Correct Answer :-

® Both school-basad and private study

[Option ID = 11777]

3) Read the passage below and answer the question

One of the major weaknesses of the existing educational system is that it places an almost exhaustive reliance on full-time instruction and does not
develop adequately the two alternative channels of part-time and private study or own-time education. It has to be remembered that reliance on full-time
education as the sole channel of instruction often divides the life of an individual into three water-tight and sharply divided stages: a pre-school stage of
non-formal education or work, a school stage of full-time education, and a post-school stage of full-time work and no education. In a modernizing and
rapidly changing society, education should be regarded, not as a terminal, but as a life-long process. It should besgin informally in the home itself, and
thereafter it should be the ultimate objective of the national policy to strive to bring every individual under the influence of the formal system of
education as early as possible, and to keep him under it, directly or indirectly, throughout his life. Similarly, there should be no water-tight separation
between work and education at any stage of man’s life, but only a relative shift of emphasis. An individual under full-time education should have some
work-experience as an integral part of his education itself; and every full-time worker should have the inclination, leisure and means to continue his

education still further. In the same way, the transition from one stage to another should not be abrupt.

il fRw 91w arerier w1 U 3iiT yrer @1 =7 3
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What is meant by the concept of ‘own-time’ education in the context of the given passage?
fow a1y arenor & Hool I rarcwrr ) smemvn A = sif¥igrr E 7

[Question ID = 2946][Question Description = S1_qSNz_PG_EDU_Q18]
1. Going to school as per own convenience
[Option ID = 11781]
2. Studying in a private coaching school
[Option ID = 11782]
3. Going to attending night classes

[Option 1D = 11783]
4. Studying at home at leisure-time

[Option 1D = 11784]

Correct Answer :-
e Going to school as per own convanience

[Option 1D = 11781]

4) Read the passage below and answer the question

One of the major weaknesses of the existing educational system is that it places an almost exhaustive reliance on full-time instruction and does not
develop adequately the two alternative channels of part-time and private study or own-time education. It has to be remembered that reliance on full-time
education as the sole channel of instruction often divides the life of an individual into three water-tight and sharply divided stages: a pre-school stage of
non-formal education or work, a school stage of full-time education, and a post-school stage of full-time work and no education. In a modernizing and
rapidly changing society, education should be regarded, not as a terminal, but as a life-long process. It should begin informally in the home itself, and
thereafter it should be the ultimate objective of the national policy to strive to bring every individual under the influence of the formal system of
education as early as possible, and to keep him under it, directly or indirectly, throughout his life. Similarly, there should be no water-tight separation
between work and education at any stage of man’s life, but only a relative shift of emphasis. An individual under full-time education should have some
work-experience as an integral part of his education itself; and every full-time worker should have the inclination, leisure and means to continue his

education still further. In the same way, the transition from one stage to another should not be abrupt.

il fRw 91w arerier w1 U 3iiT yrer @1 =7 3
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/OO TRUTH T TRV # TG 3igrenfrT oél el =nf2e

Who should be the first teacher(s) for a child, as indicated in the passage?
wep qeal @ 1Y uad {3151 Bid 3ol w3y, S & orener @ sorew oRm ¥ 7

[Question ID = 2947][Question Description = 51_qSNz_PG_EDU_Q19]
1. Peers in the neighbourhood /sl & sewdt
[Option ID = 11785]
2. Mother and father at home /= # =t &z foem
[Option ID = 11786]
3. Care-takers in child-care center /== T #zaseT-$5 # S=a0T F301 ACT

[Option ID = 11787]
4. Teachers in a nursery scheol /er st 5o # fosrr

[Opticn ID = 11788]

Correct Answer :-
e Peers in the neighbourhood/wE= % FETst
[Option ID = 11785]

5) Read the passage below and answer the question

One of the major weaknesses of the existing educational system is that it places an almost exhaustive reliance on full-time instruction and does not
develop adequately the two alternative channels of part-time and private study or own-time education. It has to be remembered that reliance on full-time
education as the sole channel of instruction often divides the life of an individual into three water-tight and sharply divided stages: a pre-school stage of
non-formal education or work, a school stage of full-time education, and a post-school stage of full-time work and no education. In a modernizing and
rapidly changing society, education should be regarded, not as a terminal, but as a life-long process. It should begin informally in the home itself, and
thereafter it should be the ultimate objective of the national policy to strive to bring every individual under the influence of the formal system of
education as early as possible, and to keep him under it, directly or indirectly, throughout his life. Similarly, there should be no water-tight separation
between work and education at any stage of man’s life, but only a relative shift of emphasis. An individual under full-time education should have some
work-experience as an integral part of his education itself; and every full-time worker should have the inclination, leisure and means to continue his

education still further. In the same way, the transition from one stage to another should not be abrupt.
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What is the opinion of the author about education and work?
fdram i R & a3 | dos ST wEr g ?

[Question ID = 2948][Question Description = 51_qSNz_PG_EDU_Q20]
1. Ne work at the time of education/fsr & sw= <1 ow ot

[Option ID = 11789]
2. No education while working on a job /el ur =it g2 FF feem ol

[Option ID = 11790]
3. Education and work to be integrated/&ier &y =W =1 wéEa frar woT @z

[Option ID = 11791]
4. Education and work should not go together /st oy =™ oy oE $15 wrigw

[Option ID = 11792]

Correct Answer :-
o No work at the time of education /f3sT & =71 =12 =% oiEt

[Opticn ID = 11789]

Topic:- Education_SH1_C

1 ) How does organisational climate affect the employees in an organisation?

Tep il ¥iorgatr 3 Holgolcl® Mdlel I @l BA yalad aodl 3 ?



[Question ID = 2949][Question Description = S1_qSNz_PG_EDU_Q21]
1. Respect for employer and salary/fritsT sz e w1 FF=a

[Option 1D = 11793]
2. Team spirit and quality of products /2= srer iz sract 51 =T

[Option 1D = 11794]
3. Productivity level and motivation level feroeerr =7 stz 7T =2

[Option ID = 11795]
4. Employees’ dedication and salary/w=i= =1 =50 7 &=

[Option ID = 11796]
Correct Answer :-
® Respect for employer and salary/fErrT Sz 3= 71 12

[Opticn ID = 11793]

2) Who among the following has propounded Scientific Management theory?
Torgatfetizaa & A [pwel dsulore yetlel Bigia ol ylerafea fopen 3 7

[Question ID = 2950][Question Description = 51_qSNz_PG_EDU_Q22]

1. Gullick and Urick/zi%w S =irs

[Option ID = 11797]
2. F.W. Taylor/ow ssoeoem

[Option ID = 11798]
3. Elton Mayo fuccot 30l

[Option ID = 11800]
4. Peter Drucker /uiicy s%7

[Option ID = 11799]
Correct Answer :-
® Gullick and Urick/=fwr div =i

[Opticn ID = 11797]

3) Which of the following states the principles of Scientific Management theory?

Torgatfeti3aa & A wlal dsulere Yt Bigia @ 3ol ardl @l g 3 7

[Question ID = 295 1][Question Description = S1_qSNz_PG_EDU_Q23]
1. Science, not rule of thumb, Harmony, Co-operation, and personal efficiency level /fsial, Sigm, SEs1 ,S0e® Gaid 57 SIS 9 sragli e sel

[Option 1D = 11801]
2. Leisure time, Work environment, Harmony among employees, and relation with employer/aEsTa1 T =9, A 98 $1 ARl , SHAlFED & b srees, S Eer
= I FEE

[Option 1D = 11802]
3. Working hour, Profit from work, Work-specification, and leisure time benefit fFm & ©E, T 3 wra, TR, 7 aTTe 9= 71 o

[Option ID = 11803]
4. Routine work, Hierarchical structure, Motivation, and Punishment /Rl =@, Tergs#Ha e, 1o 8 o

[Option ID = 11804]
Correct Answer :-
® Science, not rule of thumb, Harmeny, Co-operation, and personal efficiency level /fEmTar, =g, Je<iET ,SReT ST =07 , G < GaIEEl 7F o

[Opticn 1D = 11801]

4) Who among the following list of thinkers of management has developed the theory of “Variation”?

ydtiel @ fermval &I fowtleraa 3= 3 3 fepwel "fafaerar” @ Bigia @1 e ear 3 ?

[Question ID = 2952][Question Description = S1_qSNz_PG_EDU_Q24]
1. Peter Druckerricr ===

[Option ID = 11805]
2. Mouton and Blake/#c= 5l =1

[Option 1D = 11806]
3. Edward Deming/o=as £

[Option 1D = 11807]
4. Henry Fayol/s=t =i

[Option ID = 11808]



Correct Answer :-

e Peter Druckertdie ===

[Option ID = 11805]

5 ) What does PDCA stand for in the theory of Total Quality Management (TOM)?

el aqurad ydeet (TOM) & Brgia 3 PDCA o1 <o 3 3 ?

[Question ID = 2953][Question Description = S1_qSNz_PG_EDU_Q25]
1. Play, Dig, Cry, Act/w1, %1, 5=, wre

[Option ID = 11809]
2. Plan, Do, Carry, Act/uere, 5, £, T

[Option 1D = 11810]
3. Plan, Do, Check, Act fcera, =, @F, T

[Option 1D = 11811]
4. Publish, Dashboard, Careful, Act/usfzrr, Sems, Somue , Boe

[Option 1D = 11812]
Correct Answer :-
® Play, Dig, Cry, Act/o, &1, =2, e

[Option 1D = 11809]

6) Which of the following gives a description about health and health-related states of an individual?

foraifei¥aa & A @il A1 wafts & Faps siir Fapesn A Haf?ra srarer @ ot 3 fawr3ar g ?

[Question ID = 2954][Question Description = 51_qSNz_PG_EDU_Q26]
1. ICF Model/ICF sif==t

[Opticn ID = 11813]
2. ICMR Act/ICMR ciFfeEm

[Opticn ID = 11814]
3. UGC Model Act/UGC afser s

[Option ID = 11815]
4. PWD Act/tissoeEt sfiftes

[Option ID = 11816]
Correct Answer :-
® |CF Model/ICF #Ats=t

[Opticn ID = 11813]

7) How many types of disabilities are listed in the PWD Act 2016 of India?

ad @ UseegEt aftfereE 2016 3 feae YR o feseriorar Jeiag  ?

[Question ID = 2955][Question Description = S1_qSNz_PG_EDU_Q27]
1. Five (5) /= (5)
[Option ID = 11817]
2. Fifteen (15)/<mz (15)
[Option ID = 11818]
3. Twenty-one (21)/zw8m= (21)

[Option ID = 11819]
4. Twenty-seven (27)/=rriz (27)

[Option 1D = 11820]

Correct Answer :-
e Five (5)/am= (5)

[Option ID = 11817]
8) As per 2011 Census of India, what is the total number of disabled persons in India?
2011 Bl Hrd 6l SloleIviell @ gAY, M i Idacdisli &l @ sz el & ?

[Question ID = 2956][Question Description = 51_qSNz_PG_EDU_Q28]
1. 1.8 crore/1.8 =3s [Option ID = 11821]

1. 2.68 crore/f?.68 =3 [Option ID = 11827]

3. 3.80 crore/3.80 =3 [Option ID = 11823]

4, 4.86 crore/4.86 =1z [Option ID = 11824]



Correct Answer :-
e 1.8 croraf1.8 =3z [Option ID = 11821]

9) Match List | with List Il

List | List 11

System of education |[Meaning of the system of education

IA. Inclusive education |l. Where the disabled children are taught in separate institution

B. Special education [Il. Where the children with special needs are taught along with normal ones|
C. Integrated education||||. Where the children without any special needs are taught

D. Normal education |IV. Where disabled children are taught in the same class with special care
Choose the correct answer from the options given below:

it -1 <t gt -1l gdfer <Bifdme

et -1 et -1l
Brer-waren  Bipr-caaren @ aregh
gl&ff oft |.S1Ef fecuieT el bl 10T Hel i USRI SIFI &
B. ||.5181 ferfaree Sreewil arel ol @I AT Tl @ AT UGRI
fafdree Premr - =Iwm &
C. ! !
111. 518t ferarT farfdree Steesdl drel a<di oI UGRIT Sl &
eehlaer f2rsm )
D. IV.51gf feoaier i @l HaTal ol 3 frdi exagdes grIr Adr
oTee P @

ofl<l [ow o1 fermetdi 3 21 W&l Far gfom :

[Question ID = 2957][Question Description = 51_qSNz_PG_EDU_Q29]
1. A-1,B-1I,C-1ll,D -1V

[Option 1D = 11825]
2. A-1,B-1L,C-1V,D-1l

[Option 1D = 11826]
3. A-lLB-IY,C-1l,D-I

[Opticn ID = 11827]
4. A-1LB-IV,C-1,D-

[Option ID = 11828]
Correct Answer :-
e A-I,B-Il,C-lI,D-IV

[Opticn ID = 11825]

10) Match the theory of leadership in column-A with its focus in column-B.

List I List Il

Leadership theory Basic focus of the leadership theory

IA. Contingency theory |l. Motivate followers by appealing to their interest areas

B. Transactional theory |ll. Identify needed change and create a vision for the organization and make people commit to it
C.Transformational theory|lll. Understand the needs of people and satisfy them

D. Servant theory IV¥. It is the circumstance that make a leader

Choose the correct answer from the options given below:

Dictn-A ¥ olefed DIgiA @ Hrer wica-B 3 olegea Bigier @ smenwer @5 A Hifera bl :

3t - T -l
ol DIgie oleged BIgier o smenwag a5
A.
IRRADA || sreenReil ol Soid BRI Siq) & slebar U o3
Brgia
B. dlot-2ot ot ||l 3Maea® ufyacier @l ugamel 3iiz Jokal @ fere v zfite wong
Rgict ity el @t 3as e yirag @
C. af¥ada Il it B stwswdl Bt R s F6d Hegee T
Brgia
D. oll®? B |y o5 a5 ulfeR & il v oar o) gerdl &
Brgia




ofl<l [ow o1 fermetdi 3 21 W&l Far gfom :

[Question ID = 2958][Question Description = 51_qSNz_PG_EDU_Q30]
1. A-1,B-1,C-1ll,D-IV

[Option 1D = 11829]
2. A-IV,B-1,C-1I,D-I

[Option 1D = 11830]
3. A-IV,B-1,C-1,D-1ll

[Opticn ID = 11831]
4. A-NILB-1L,C-11,D-1¥

[Option ID = 11832]
Correct Answer :-
e A-Il,B-1,C-ll,D-IV

[Opticn ID = 11829]

11) What is the process of organizing inclusive education in a classroom?
A. Evaluation of students’ progress

B. Identify CWSN in the class

C. Study the problems of CWSN

D. Plan and Organize teaching by adapting the method and approach
E. Provide feedback to stakeholders

Choose the correct answer from the options given below

g @i d WAl P @ sirisa O gl gz &7

A. DI &I ga1fer T gl

B. wgmr & CWSN &I uaamer o3

C. CWSN <&l Harz=nsil @ 3izRId B3

D. faiér sitz zftemior I rueites Torgror of saaiderd iy Floritsr oy

E. fgaemrel ! yiigite &

offr fow s frovedl & 3 318t 3 gai -

[Question ID = 2959][Question Description = S1_qSNz_PG_EDU_Q31]
1. A,B,C, D, E

[Option 1D = 11833]
7. B, A D,E.C

[Option 1D = 11834]
3. C,E,D,B, A

[Option 1D = 11835]
4. B,C,D, AE

[Option 1D = 11836]

Correct Answer :-
e A B, CD,E
[Option 1D = 11833]

12) What are the essential requirements to make education inclusive?
forg o FaE 9l doltol @ o1 a= s 3 ?

[Question ID = 2960][Question Description = S1_qSNz_PG_EDU_Q32]
1. Teacher's competencies to teach, Teacher's Attitude, Classroom, and Computers/ s==me 27 B1sRFT T TarTd, T85! 96T 78, 5T o Twres

[Option ID = 11837]
2. Parental involvament, Teacher's attitude, Teacher's compatencias in teaching, and Administrator's support/#-o 551 seinnT, Bisst 61 3399, =Tt
1 Tetgrrt #1 Tar b geiotE! w1 o

[Option ID = 11838]
3. Peer group suppert, Teacher's competeancies, Principal’s support, Parent's involvement, and Counsellor’s support/zeu@ & sms o1 aasht , B! &1
TSI, RIS 1 AR, Ae-T0 61 aeicry, Jf ke = amedn

[Option ID = 11839]
4. Accessibility of institution, Support from teachers, Teacher's competencies, Peergroup support, and Counsellor's support/=ser %1 ug, fsmst 3 mma
, T81empT 1 i, et &1 FBEr, &l qmHeEr w1 smelb



[Option ID = 11840]
Correct Answer :-
e Teacher's competencies to teach, Teacher's Attitude, Classroom, and Computers/ st 3g Bl &1 cerme, el #1339, war i Twcr

[Option ID = 11837]

13) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Democratic management is based on the principle of peoples participation.

Reason R: A leaders who takes administrative decision by himself/herself believes in democratic procedures.
In light of the above statements, choose the correct answer from the options given below

ofldl ©1 werel 8w otw & : wor @l sifitaseet (A) iz ga? @l aod (R) war o &

stfireperet (A) : eloedile Yder dpl $f splienst @ Bigia uv smenfsd &

aas (R) : Yo olell Sl ¥eri yemieras fervia cien/ aiefl 2, cllpailee ylapzsil 3 favary o / ol &

I el @ e @ fomaifiea fereul # W WE 397 gof ©

[Question ID = 2961][Question Description = $1_qSNz_PG_EDU_Q33]

1. Both A and R are true and R is the correct explanation of Af(A) 3z (R) =it =t & &tz (R), (A) &t =8 o= &

[Option ID = 11841]
2. Both A and R are true but R is NOT the correct explanation of A/(A) itz (R) ot = £y (R), (A) Fr = mmn ot

[Option ID = 11842]
3. Ais true but R is false/{A) =&t £ m=g (R) ==t &

[Option ID = 11843]
4. Ais false but Ris true/{A) =@ =gl 2 weay (R) =l 2

[Option ID = 11844]
Correct Answer :-
e Both A and R are true and R is the correct explanation of A/(A) 3z (R) clet =2l € &z (R), (A) &1 =@l s 2

[Option 1D = 11841]

14) Which of the following is known as unit cost?
foFafeiaa # A fopd SR aPrT @ U # SIiel AT & 7

[Question ID = 2962][Question Description = S1_qSNz_PG_EDU_Q34]
1. Total expenditure incurred by an institution and spent by it /f5=it Zmer ToT fFer #r=T %501 3B er Jl 33 BT T35l o o=t

[Option ID = 11845]
2. Total income minus the expenditure fem= & RFE FeT o=

[Option ID = 11846]
3. Total amount earned from cess and donations/<scT w181 o ol oro1 31 afsi 1 8

[Option ID = 11847]
4. Total expenditure by the institution divided by total number of students /oizer gt 3w 518 %501 oot =1 21g1 FT 01 212 glal Rl e srr

[Option ID = 11848]

Correct Answer :-
o Total expenditure incurred by an institution and spent by it /@i wer gror Bvar s get 9w oo d 329 ERl e orn oo

[Option 1D = 11845]

15) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: NAAC assesses and accredits only those institutions of higher learning that have either completed six years of
establishment or have produced two batches of graduates.

Reason R: IQAC helps to find out the new courses to start and recruits teachers.

In light of the above statements, choose the correct answer from the options given below

ofll €1 ool few o1e & 1 wop o aifiraserer (A) sii g3 @ a@ (R) a1 7RI &

siffrperer (A) 1 NAAC s Rir @ dael Jodl H¥lell @I siiapelal Pl 3117 Sod HIcA ol 3, fSteslal smell Femuelr @ e Hiel gj o7 iy
& w1 Broldd ol @ ol da sdlvi &

aa® (R) : IQAC Bl I ole s 1T Aol ST UIgRISEH T URT eToliel # 37 fdrgrept &t aicll wvot of sice wm 8
Iwfth Dol @ atclle # fowetilepd famedl i 3 38l sa gl :

[Question ID = 2963][Question Description = S1_qSNz_PG_EDU_Q35]

1. Both A and R are true and R is the correct explanation of Af(A) 2z (R) cIoit = 2 &z (R), (A) <1 28 ween @



[Option 1D = 11849]

2. Both A and R are true but R is NOT the correct explanation of A/{A) iz (R) =t =gt #weog (R), (A) &1 =8 o o8t £
[Option ID = 11850]

3. Ais true but Ris false/(A) 281 2 wog (R) ml ol 2

[Option 1D = 11851]
4, Ais false but Ris true/(A) =@ ot 2 wsg (R) =21 2

[Option ID = 11852]

Correct Answer :-
e Both A and R are true and R is the correct explanation of A/(A) 3z (R) Slar =2t € & (R), (A) &1 =@l s 2
[Option ID = 11849]

Topic:- Education_SH1_D

1 ) Read the following passage and answer the question.

Pedagogy as practiced today in the classroom is mostly a teacher-centred, input-output model. It entails inputs by the teacher. It envisages a prototype
output in the learner, confined within the philosophy — ‘What is relevant for examination is relevant for education’. However, in the context of leaming
in the constructivist framework, the ‘Desirability’ of Teaching-learning Process (TLP) consists of input by the learner leading to output by the learner. One
may call this the leamer-centred input-output model. However, optimisation of TLP leading to maximization of meaningful learning cannot afford to
consider the teacher and the learner in isolation. Thus in ‘Ideality’ the composite model for TLP invelves input by both the teacher and the learner
expecting a planned construction by the leamer. This means the ‘Reality’ should help the ‘Desirability’ to approach the ‘Ideality’. We call this crucial
because through conclusive field study-based evidences constructivism advecates that; the learner constructs hisfher knowledge, no learner enters a class
devoid of personal constructs (Alternative conceptions), and knowledge is constructed through a process of conceptualization. Thus to maximise
meaningful learning it is essential to know what are the contributing structures (inputs) the learner carries with him/her into the classroom and using

which he/she is going to construct new structures (output).

il fRw 91w arerier w1 U 3iiT yrer @1 =7 3

a1t far wu @t @ gir it (31g1T-9Irgl eraga gIar § ag aftrpiorT: si=muas-asioga, forder-afgder siiser §. s3dl aamues @rr farder siifira gar €. sl aiftemenal 3 vas amemsu afgdor
uf¥esfdua giar & =it s e 3 swag grar 3 fas ‘=it adtgn o fony grafdes 3, g Sigur s oy sft grfdres 3 foseg, Heaemardt <g o siftrera @5 ulrgen o, {3rgmr-oiera gegar [Ehyedd)
o “aisoitaar ¥ siferamal @Rt s @it ard farder A Icusa sifteersal ar af2der enfier 2lar 2. s siftewmal -afega faraer-afzder diisc asar =ir Wasar & aenfty, dheerdt ot
Tl A siford Arefes Aftem At rsaneIul & R1g e 31 Aft e T Goles 7 & oiél SI0r =1 TG 33 Wbl ‘argefa’ dhuendt & mfiag) #iiser 3 arenaes iz st el
2rait =51 ferder onfiret Frw £ iy AtEERsA FRT v Rl RIRRT 61 sian 1 =iedh £, 57w 3 % 5 ‘s el Reif?r s udmet & forg Sremef 51 “aisederT’ =1 AR e mfe. 36
FH AEcAYU] wad & SRR fowllwrs A sreermer-arenfia Irasl & Areem A Telars 335! eI B # 35 At et s1ael S o1 forafur ssear/osd £, 513 oft sifterersat
Faftres iRl (Sofeams Timoueral]) 71 AFa dree war d yaer vl os2ar # iz s1et o1 fomivn Tiesouer-ferer o1 <51 vos gftoer & ATesTa 31 21T 8. 3 refes aiftera ot siftrsaa
Tcllol & 10 718 SiIetell a9 £ o5 siftpracsl wie 7t Aierrl T (forden) et Trer 4 o7 ar # yas! e/l £ 3z Fnws vl @ gR1 a8 o Fvaensi [af2den) w1 fomafor
7ol aren/art &

Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Education today is based on the belief that “what is relevant to examination is relevant to education.”
Reason R:  Constructivist approach is based on “input by student leading to output by learner.”

In light of the above statements, choose the correct answer from the options given below

Sl <l aeret 3y a1 § 1 v @t afraserc (A) iz g) @) s (R) dar orw ¥

sfirpear (A) 1 addae R 3w e ue senfya & o "si udlzn @ fée ypildie &, as Rimr o oy il yeike 3"
s (R) : Frarsrard! sarer el grr R se ar fader 7 Setsel aift st & afider uy anenfyd .

TRl el @ aneies 3 frera Reedt 3 7 7 I g

[Question ID = 2964][Question Description = 51_qSNz_PG_EDU_Q36]
1. Both A and R are true and R is the correct explanation of A/{A) iz (R) <Ioil 2@ 2 s (R), (A) 1 =@l oaren 2

[Option ID = 11853]
2. Both A andR are true but R is NOT the correct explanation of A/(A) itz (R) <ol =2t 2 usog (R), (A) &1 =2 s o8l 2

[Option ID = 11854]
3. Ais true but Ris false/{A) =l 2 woog (R) =dl =t @

[Option ID = 11855]
4. Ais false but Ris true/{A) =@ =gl 2 weag (R) =l 2

[Option ID = 11856]

Correct Answer :-

e Both A and R are true and R is the correct explanation of A/(A) 3z (R) Clar =2t € & (R), (A) &1 =@l s 2
[Option ID = 11853]



2) Read the following passage and answer the question.

Pedagosgy as practiced today in the classroom is mostly a teacher-centred, input-output model. It entails inputs by the teacher. It envisages a prototype
output in the learner, confined within the philosophy — ‘What is relevant for examination is relevant for education’. However, in the context of leaming
in the constructivist framework, the ‘Desirability’ of Teaching-learning Process (TLP) consists of input by the learner leading to output by the learner. One
may call this the leamer-centred input-output model. However, optimisation of TLP leading to maximization of meaningful learning cannot afford to
consider the teacher and the learner in isolation. Thus in ‘Ideality’ the composite model for TLP invelves input by both the teacher and the learner
expecting a planned construction by the leamer. This means the ‘Reality’ should help the ‘Desirability’ to approach the ‘Ideality’. We call this crucial
because through conclusive field study-based evidences constructivism advecates that; the learner constructs hisfher knowledge, no learner enters a class
devoid of personal constructs (Alternative conceptions), and knowledge is constructed through a process of conceptualization. Thus to maximise
meaningful learning it is essential to know what are the contributing structures (inputs) the learner carries with him/her into the classroom and using

which he/she is going to construct new structures (output).

it fow a1y srerier @t ud 3z yrst o1 T 30

31T f51 w0 # @ # {3I8I0T- 9Ig I 31T 3 a8 HPRPIORT: 3e=Iue-dioge, forder-afdder #ise . 3331 Ae=us @RI ford ol 3RIf31a 21T . 3374 st el # vas arersu afgder
uf¥esfEad 3 & 5it 331 R 3 g 3rar 3 e siradten & R gl %, g fbrant & e oft grifies 3 fisog, Fivearardt g # s1ftera @ ufyggs #, fSramr-s1ftera g (Sued)
I “aiselern’ # Aftrpramal R 51 e e fordel 7 3oued Afterrsal o1 af3der enfie 2rr 3. 331 siteeeal-Bfega forer-af3der Atz ovar = 7r0ar %, aenfty, Soendt
FTEae A Fifora Al e e a1 & 19 e 317 siftemesdl T Yo @7 @ oldl oAl 51 T, $31 plT “aigefay’ Shuerdt & wffae) disa & arenues iy siftemeal
<ot =T forter enfirer A ¥ 3ty st Eraesl g ues forlifsra R 6t atiar 6t sl 2. 53wt aref % s s of B’ s v < o 1ol w51 *alsellerr’ w51 TE RIS 2ol i3, 30
FH AECaYD] wad & SRR fowll=rs A sreermer-arenfia Trasil & wree A Tivearars 33t awIera ol £ 1Ry afteresl 316! St w1 forafvn wyar/awd £, 18 oft sifteraesat
e foififrl (Sosfeas T oueral]) 71 ARadre war d yaer vl xar # 3iiz s1et o1 fomivn T euer-foredro1 ) vers i & AresTa 31 31 £, 3 Trefe sftera oo siftesas
Tcllol & 10 7 SiIetell a9 £ 55 siftpracsl wie 7t Aierrl v (forden) et Trer 4 o7 ar # yas! s/l § 3z Fnrs vl & gR1 a8 of riraarsi (afzden) w1 forafor
as¥ol arctrfarcdt &

What does constructivist approach advocate?
A. Learner constructs his knowledge

B. Teacher is fore-runner of knowledge

C. Books are the basic source of knowledge

D. Each learner has his own constructs

E. Conceptualization process is individualistic

Choose the correct answer from the options given below

Fraerardt suera kAT acTaa wear 37

A. siRprraral srel sirel @ forafur @weer 3.
B. aresmues Sl 6T 31)-gd 2l &

C. gzaes Sid 6T 431 Hd &

D. ycdies sifterersal o) argelt Fas o forfiffa a2
E. Fisveuar-feredzoT &5t gfeger ifts-fores 2redt &
oftar Ry o fesedt & & ¥ 5o gat

[Question ID = 2965][Question Description = $1_qSNz_PG_EDU_Q37]
1. A, B, and D only/

FaT A, B Sz D
[Option ID = 11857]
2. A, C, and Eonly/@asA, C FitE

[Option ID = 11858]
3. A, D, and Eonly/&astA, D FitE

[Option ID = 11859]
4., C,DandEonly/d&a=C, D S E

[Opticn 1D = 11860]

Correct Answer :-
e A, B, andD only/

@ar A, B dz D

[Option ID = 11857]

3) Read the following passage and answer the question.

Pedagogy as practiced today in the classroom is mostly a teacher-centred, input-output model. It entails inputs by the teacher. It envisages a prototype



output in the learner, confined within the philosophy — ‘What is relevant for examination is relevant for education’. However, in the context of leaming
in the constructivist framework, the ‘Desirability’ of Teaching-learning Process (TLP) consists of input by the learner leading to output by the learner. One
may call this the learmner-centred input-output model. However, optimisation of TLP leading to maximization of meaningful learning cannot afford to
consider the teacher and the learner in isolation. Thus in ‘Ideality’ the composite model for TLP involves input by both the teacher and the learner
expecting a planned construction by the leamer. This means the ‘Reality’ should help the ‘Desirability’ to approach the ‘Ideality’. We call this crucial
because through conclusive field study-based evidences constructivism advocates that; the learner constructs hisfher knowledge, no learner enters a class
devoid of personal constructs (Alternative conceptions), and knowledge is constructed through a process of conceptualization. Thus to maximise
meaningful learning it is essential to know what are the contributing structures (inputs) the learner carries with him/her into the classroom and using

which he/she is going to construct new structures (output).
il fRw 91w arerier w1 U 3iiT yrer @1 =7 3

3t f3r wu it @ g it (31g1T-9Irgl craga gIar § ag aftrpiorT: si=nuas-asieoga, forder-afgder siiser . s3dl aamues grr farder siifira grar €. st aiftemenal 3 vas amemsu afgdor
uf¥esfiua dar g =i s fan 3 s drar 3 Ry S uflgr s B grifies 3, ag Rignds B sit grifies 37 fseg, sraerardt dg # aiftrera 5 ufsge & Rigu-aftera yagr [Qyerd)
o “afsoitaar ¥ aiferamal grT s =it ard farder A Icusa sifteersal ar af2der enfier glar 7. s siftewreal -afega faraer-afzdor diis e asar =ir Wasar & aenfty, dheerdt ot
Freaad A siferd Areles siftem it a1 o oy srearaas sl sftemedl T el @2 & oldl $7ar = Hepdr. 3H geplz ‘snsela’ eadt & affng sfsa 3 are=nues iz aifteraamal
<ot =T forter enfirer A ¥ 3ty st Eraesl g ues forlifsra R 6t atiar 6t sl 2. 53wt aref % s s of B’ s v < o 1ol w51 *alsellerr’ w51 TE RIS 2ol i3, 30
FH AECaYD] wad & SRR fowll=rs A sreermer-arenfia Trasil & wree A Tivearars 33t awIera ol £ 1Ry afteresl 316! St w1 forafvn wyar/awd £, 18 oft sifteraesat
s iRl (Sosfeams T oueral]) 71 ARadre war d yaer wél xar # 3iiz s1e o1 fomivn e euer-foredror ) ves gfapr & Aresra 31 3 £, 3 Trekes sftera oo siftesas
Tcllol & 10 7 SiIetell a9 £ 55 siftpracsl wie 7t Aierrl v (forden) et Trer 4 o7 ar # yas! s/l § 3z Fnrs vl & gR1 a8 of riraarsi (afzden) w1 forafor
7ol aren/art &

Which of the following characterize Constructivist approach?
forafeina ® 71 i Fvaararst Iuera o1 JAfirersor £

[Question ID = 2966][Question Description = 51_qSNz_PG_EDU_Q38]
1. Learner centeric/afErmst Soga
[Option ID = 11861]
2. Teacher centeric /s Sikga
[Option ID = 11862]
3. Group centeric/wE g

[Option ID = 11863]
4. Subject centeric /e $ga

[Option ID = 11864]

Correct Answer :-
® |earner centeric/alFFmeEnl Fega
[Option ID = 11861]

4) Read the following passage and answer the question.

Pedagosgy as practiced today in the classroom is mostly a teacher-centred, input-output model. It entails inputs by the teacher. It envisages a prototype
output in the learner, confined within the philosophy — ‘What is relevant for examination is relevant for education’. However, in the context of leaming
in the constructivist framework, the ‘Desirability’ of Teaching-learning Process (TLP) consists of input by the learner leading to output by the learner. One
may call this the leamer-centred input-output model. However, optimisation of TLP leading to maximization of meaningful learning cannot afford to
consider the teacher and the learner in isolation. Thus in ‘Ideality’ the composite model for TLP involves input by both the teacher and the learner
expecting a planned construction by the leamer. This means the ‘Reality’ should help the ‘Desirability’ to approach the ‘Ideality’. We call this crucial
because through conclusive field study-based evidences constructivism advocates that; the learner constructs hisfher knowledge, no learner enters a class
devoid of personal constructs (Alternative conceptions), and knowledge is constructed through a process of conceptualization. Thus to maximise
meaningful learning it is essential to know what are the contributing structures (inputs) the learner carries with him/her into the classroom and using

which he/she is going to construct new structures (output).

it fow a1y srerier @t ud 3z yrst o1 T 30
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What type of teaching-learning process is practiced today in our classrooms?
acdarel Ha # gArd @ girall # 5w yestz w1 Rigr-aitem gma wraga dr 7

[Question ID = 2967 ][Question Description = $1_qSNz_PG_EDU_Q39]
1. Student centeric/Ferdf @i

[Option ID = 11865]



2. Teacher centeric /= #i5oa

[Option ID = 11866]
3. Practice based/=mar smEnfm

[Option ID = 11867]
4. Computer based/==rT am=ra

[Option 1D = 11868]

Correct Answer :-
e Student centeric/fRensf & BnT
[Option 1D = 11865]

5) Read the following passage and answer the question.

Pedagogy as practiced today in the classroom is mostly a teacher-centred, input-output model. It entails inputs by the teacher. It envisages a prototype
output in the learner, confined within the philosophy — ‘What is relevant for examination is relevant for education’. However, in the context of leaming
in the constructivist framework, the ‘Desirability’ of Teaching-learning Process (TLP) consists of input by the learner leading to output by the learner. One
may call this the learmner-centred input-output model. However, optimisation of TLP leading to maximization of meaningful learning cannot afford to
consider the teacher and the learner in isolation. Thus in ‘Ideality’ the composite model for TLP involves input by both the teacher and the learner
expecting a planned construction by the leamer. This means the ‘Reality’ should help the ‘Desirability’ to approach the ‘Ideality’. We call this crucial
because through conclusive field study-based evidences constructivism advocates that; the learner constructs hisfher knowledge, no learner enters a class
devoid of personal constructs (Alternative conceptions), and knowledge is constructed through a process of conceptualization. Thus to maximise
meaningful learning it is essential to know what are the contributing structures (inputs) the learner carries with him/her into the classroom and using

which he/she is going to construct new structures (output).

il fRw 91w arerier w1 U 3iiT yrer @1 =7 3
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uResfuc dtar s 52 e 3 arrag drn § R S adign & e gt 3 @z g o g st griides 3’ Red, Hzamrardt do it st o abdga i, igur-aftera yeaga [Syed)
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Faftpes fofdifRrdl (Fasfeuas Hascusial) 3 H2a 2l oz war o ydeor oidl asvar 7 aiiz sirel oot famrivr Hascusn-fereizur &5t wes yfdyzr o areser 2 glar 2. a1 Arelas siftera ool siftiasasr
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How is output of teaching-learning visualized today?
fargor-aiterar o5 afsctor o adarer & feA a3 ¢ s 87

[Question ID = 2968][Question Description = $1_qSNz_PG_EDU_Q40]
1. Proto type/sm=rma

[Option ID = 11869]
2. Differential/fdics

[Option ID = 11870]
3. Sccietal relevance /o gofErear

[Option ID = 11871]
4. Financially gainful/fEris wu 31 oo

[Option ID = 11872]
Correct Answer :-
® Proto type/amEsg
[Option 1D = 11869]

Topic:- Education_SH1_E

1) Among the following which relationship remains inconclusive?

TorafeiRaa # 3 Siar AT Waaetr sforviia gor Jear & ?

[Question ID = 2969][Question Description = 51_qSNz_PG_EDU_Q41]
1. Micronutrients are helpful in the cognitive development /Zsr drer o affEToIa T B # FErm 26018

[Option ID = 11873]
2. Malnutrition can impair cognitive development /=t sfsEToTcsT ETH ©1 = 7 A5 &

[Option ID = 11874]
3. Eating breakfast is beneaficial for cognition f=rmmm ws=or afsm=mor & 12 Troe=F =

[Opticn ID = 11875]



4. Obesity has an association with cognition /e =T sfésmer 3 Fraa &
[Option ID = 11876]
Correct Answer :-
e Micronutrients are helpful in the cognitive development /st e sffETeres Bes # SERE 200 &

[Opticn ID = 11873]

2) Match List | with List |

List | List Il

Concept Characteristic

IA. People who live in individualist cultures|. opposes Western approaches to the study of personality in non-Western settings|

B. People who live in collectivist cultures |ll. tests Western ideas about personality in other cultures

C. The cultural-comparative approach Ill. value social harmony, respectfulness, and group needs

D. The indigenous approach IV. value independence, competition, and personal achievement

Choose the correct answer from the options given below:

A -1 ot e -1l A gl bl
el -1 et -1l
|SITEMIUIT fergreramd

AT elIeT cafepardt |.SiFulail craven 3 <Iftned @ SRRl @ fere
rFplerRI 3 e & il eftewpivor @ feRter @ &

B. =il <ileT AEfee Il a1 Hypferit 3 cafipoa @ ar? o ufndt st or
rirpfR 3 &0 & FiBIT BT &

C. AiFpiirm-geraica® |||l AT Hgra, el v Jds Pl sRedl BI
eftewmlor aAEed ol &

D . racoll eftemivr V. g1c1 Faciqear, gyiriBiar, siiv caftpera sucileer
o fou o frosedl. & 3 =8 sa7 glomw :

[Question ID = 2970][Question Description = S1_qSNz_PG_EDU_Q42]
1. A-1I,B-1I,C-1I¥,D-1

[Opticn ID = 11877]
2. A-IV,B-1,C-11,D-1

[Opticn ID = 11878]
3. A-L,B-IL,C-L,D-IV

[Option 1D = 11879]
4. A-NLB -, C-1,D-Il

[Option 1D = 11880]
Correct Answer :-
o A-Il,B-II,C-IV,D-I

[Option 1D = 11877]

3) “Health is a state of complete physical, mental, and social well-being, and not merely the absence of disease or
infirmity.” This definition is from:

" ez Ul omdifyes, AeIBI® sfiv AEnlhe Jranea €, o 1o gl dtast ar gdodr @ siguierfer * @ utysirer wal H off srit & ?

[Question ID = 297 1][Question Description = 51_qSNz_PG_EDU_Q43]
1. World Health Organization /fra same sEioet

[Option ID = 11881]
2. World Bank/faes &

[Option ID = 11882]
3. American Psycholegical Association / s#fyeor AciidsnEe Hoer

[Option ID = 11883]
4. World Federation for Mental Health famiser = & fm fsa =

[Opticn ID = 11884]

Correct Answer :-
o 'World Health Organization /&g =m=er o0



[Option 1D = 11881]

4) Successful intelligence involves three different factors (i) analytical intelligence, (ii) creative intelligence, and (iii)
practical intelligence. This theory of intelligence belongs to:

Hbel gigadl 3 eilel 3icIol-3cel whe ol & (i) Rroovncae gicadr, (1) elcas gigarr iz (iii) caeiye gigamar gfcerr o ae Brgid
oI & ?

[Question ID = 297 2][Question Description = 51_qSNz_PG_EDU_Q44]
1. Howard Gardener /em=e sigon

[Option ID = 11885]
2. Daniel Goleman /2Brwct silcifist

[Option ID = 11886]
3. Robert Strenberg/3ac szows!

[Option ID = 11887]
4. Carl Rogers /=t 31z

[Option ID = 11888]
Correct Answer :-
o Howard Gardenar f=ms s=on

[Opticn ID = 11885]

5) Wechsler Adult Intelligence Scale helps in measuring:

dokl? RG gigaar adell Rl w6l i wice wwdl & 7

[Question ID = 2973][Question Description = S1_qSNz_PG_EDU_Q45]
1. Intellectual abilities /=i smomd

[Option 1D = 11889]
2. Social intelligence/=r=ies giaer

[Option ID = 11890]
3. Emctional intelligence /srrraes-gizamr

[Option ID = 11891]
4. Multiple intelligences /ag-gfgzamr

[Option ID = 11892]
Correct Answer :-
o Intellectual abilities/difze smams

[Option 1D = 11889]

6) Regarding metacognition which statement is NOT correct?

3ifirsiTer &5 Haer # Wiol AT werel Ja oidl 3 ?

[Question ID = 297 4][Question Description = 51_qSNz_PG_EDU_Q46]

1. Metacognition is thinking about one’s thinking. /aif¥=me , fral &1 Hm & =5 # Si—or 2
[Option 1D = 11893]

1. Metacognition refers to the processes used to plan, monitor, and assess other’s understanding and performance. fzfeEmer 3 wemef 5o O 3 E =
<o SoIet & , BPrel a1 # iy Gl &1 SR Sl Uoefal &1 SIRFerl 201 & 1 S0EeT 1 ot 8

[Option 1D = 11894]
3. Metacognition includes a critical awareness of one’s thinking and learning. /afsmmer # et &6 A iy H=ad FT Aecayri SersET o1fFeT &

[Option 1D = 11895]
4. Metacognition requires students to externalize mental events. /af#i=o & ¢RI 2l F1 AEl Acoral F1 987 Brecr &1 sEsgsr aldl 8

[Option ID = 11896]

Correct Answer :-
e Metacognition is thinking about one’s thinking. /afé=mer, el 61 oila & =3 # oo 2

[Option 1D = 11893]

7) Students create their learning based on their previous experience is the basic assumption of the:

DR el fUmvel igla @5 3mens U7 il Rigir o1 forartor @ &:

[Question ID = 2975][Question Description = S1_qSNz_PG_EDU_Q47]



1. Constructivist learning theory /w==mart affem Sgw

[Option ID = 11897]
1. Behaviourist learning theory/=m=rart afteA Sigm

[Option ID = 11898]
3. Cognitive learning theory/smrorrs sftpm BigwT

[Option 1D = 11899]
4. Humanism learning theory famommms afem g

[Option ID = 11900]
Correct Answer :-
e Constructivist learning theory /r=mart sftemA Sigm

[Option 1D = 11897]

8) The concept of counselling is essentially:

UzIaet T AT SIes U H & 7

[Question ID = 2976][Question Description = 51_qSNz_PG_EDU_Q48]
1. Democratic /e e

[Option 1D = 11901]
2. Auteocratic/eeadE

[Option ID = 11902]
3. Individualistic/zftrarct

[Option ID = 11903]
4. Humanistic /#oEmamEE!

[Option ID = 11904]
Correct Answer :-

® Democratic/cl® s
[Option ID = 11901]

9) The approach to counselling in which the therapeutic process is directed along lines considered relevant by the
counsellor is named as:

Iudielol @ fére as eftewivr el Rifteedlr yien @1 wiere srar grt yrifdie wefl okl fafer & grr fodiam Ren suar &, @1 o 3:

[Question ID = 2977][Question Description = S1_qSNz_PG_EDU_Q4%9]
1. MNon-directive counselling /> fBrymar sERED

[Option 1D = 11905]
2. Directive counselling /BEeTesT STHEEDT

[Option 1D = 11906]
3. Eclectic counselling /==cmomas =ram=m

[Option ID = 11907]
4. Vocational counselling /e=resifERr wmsler

[Option ID = 11908]
Correct Answer :-
e Nen-directive counselling /Fi+Bitsnras sl

[Option 1D = 11905]

10) Match List | with List Il

List | List Il

IA. Client-centred approach of counselling [l. Sigmund Freud
B. Psychodynamic approach of counselling [Il. Ivan Paviov

C. Behavioural approach of counselling |[lll. Aaron Beck
D. Cognitive approach of counselling IV. Carl Rogers
Choose the correct answer from the options given below:

it -1 B gt - e <Bifde

Rt -1 ot -l
A wrael @1 Aaredl diega eftewmivr |. Diais wrRIs




B. wnref @I weleiifie eitemior 1. sarer uradia

C. uzrarel oI REeRrHAS it 1ll. sm3ter o

D .usrarel @f Hdelcae eitemiur
V. et et

offr fou ore firesedil 3 31 W a7 gfomw :

[Question ID = 2978][Question Description = S1_qSNz_PG_EDU_Q50]
1. A-1,B-11,C-lI,D-W¥

[Option 1D = 11909]
2. A-1,B-1I,C-I,D-I

[Option 1D = 11910]
3. A-IV,B-1,C-1l,D-1ll

[Option 1D = 11911]
4. A-NLB-V,C-1,D-1l

[Option 1D = 11912]

Correct Answer :-
e A-|,B-1lI,C-llLD-IV

[Option 1D = 11909]

11) Which of the following statements are correct?

A. Learning is a lifelong process

B. Learning is not possible without a teacher

C. Learning is enhanced through socially supported interactions.
D. Learning is enhanced through experiences

E. Learning is not possible without a school

Choose the correct answer from the options given below:
forgaferi¥aa 3 3 wia A e 74 87

. il SlderrRla el aril yfazn 2

. Fepatt Rigres o w8y siftemr wa #ét 8

HAST-HARIT sierRpznsi A atewm & sfigiy i
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foraaiferidae feropedl 3f A &8 37 gol :

[Question ID = 2979][Question Description = 51_qSNz_PG_EDU_Q51]
1. A, Cand D only/$ac1A, C &z D

o N w P

[Option ID = 11913]
2. A,B,CandDonly/#=w1A, B, C sz D

[Option ID = 11914]
3. A,DandEonlyf#=m1 A, D 3z E

[Option ID = 11915]
4. A, B, Cand Eonly/®a A, B, C &icE

[Option ID = 11916]
Correct Answer :-
e A, CandDonly/fsaA, CaD

[Opticn ID = 11913]

12) Curricula ought to emphasize providing students with a deep understanding of the important ............ of a discipline and
how they are organized.
urRRRl @I fepait féen- ormar 95/ & wecayyf ------- 3iiy Jordl 3IRIIsTel ferf2r @ any f fenf2lll P s1eel el Yglel el U3 el Soll TIiE.

[Question ID = 2980][Question Description = $1_qSNz_PG_EDU_Q52]
1. Concepts/sFoueral

[Option 1D = 11917]
2. Facts/as=i

[Option 1D = 11918]



3. Contents/fEerr=g

[Optien ID = 11919]
4. Theories/Sgwt

[Opticn ID = 11920]

Correct Answer :-

o Concepts /ool

[Opticn ID = 11917]

13) The following are essential considerations for curriculum development. Arrange them in a sequential order
A. Formulating intended learning outcomes

B. Suggesting methods to accomplish intended outcomes

C. Assessing of characteristics and needs of learners

D. Analysing issue/problem /need

E. Identifying the important and relevant content

Choose the correct answer from the options given below

URRRRI e @ foeafeiRad dAecagul Tl o SHar Jeadiderd o7

. anfiee siREE ubyoIH &1 g Tel
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[Question ID = 2981][Question Description = 51_qSNz_PG_EDU_Q53]
1. A,B,C, D, E

[Option 1D = 11921]
2. D, C, A, E B

[Option 1D = 11922]
3. A,C,D,EB

[Opticn ID = 11923]
4. D,B,A,EC

[Option ID = 11924]
Correct Answer :-
e A B, CD,E

[Opticn ID = 11921]

14) Given below are two statements

Statement I: Tyler Model of curriculum is based on four main components: purposes, experiences, methods and
evaluation.

Statement |l: Stake’s model of curriculum evaluation is based explicitly on the assumption that the concerns of the
stakeholders—those for whom the evaluation is done—should be paramount in determining the evaluation issues.

In light of the above statements, choose the most appropriate answer from the options given below

okl eI P fcu aw & :

A - | 1 UGl oo <lse? disd TR #3R1 gl U3 ENiNT & 3693, sigd, faftril siiv Jeaiaa.
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[Question ID = 2982][Question Description = S1_qSNz_PG_EDU_Q54]

1. Both Statement | and Statement Il are correct/=rzm | otz || Frotf =8 &

[Option ID = 11925]
2. Both Statement | and Statement |l are incorrect /== | &z || S0 o0 2



[Opticn 1D = 11926]
3. Statement | is correct but Statement |l is incorrect/==m1 | 7t €, frog wemt llsem 2 |

[Option 1D = 11927]
4, Statement | is incorrect but Statement Il is correct/®=m | scm 2, fsog w=m || 76T 2

[Option ID = 11928]
Correct Answer :-
e Both Statement | and Statement Il are correct/==wt | Sz 1 iet =t &

[Option ID = 11925]

15) Given below are two statements

Statement I:  ADDIE model of instructional design is an acronym for the five phases: Approach, Design, Development,
Implementation, Evaluation.

Statement |l: Remembering, Understanding, Applying, Analysing, Evaluating, and Creating are core components of Bloom’s
taxonomy of learning objectives.

In light of the above statements, choose the most appropriate answer from the options given below

ofldl Gl we e orw & ©

@ - | :31gic elcdA® 3if¥ed @I ADDIE dise uiw <ull- vy, Bendel, Sacudie, sewildeor, sdeyuoler @ YA 3.
@l - || FHI0L, IradlEr, eURIIET, Rraenr, Joaimel 3T Fetol ARPH SLeAT o ocfgH WBII®EIN & Hel Uch &.
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[Question ID = 2983][Question Description = 51_qSNz_PG_EDU_Q55]

1. Both Statement | and Statement Il are correct/< =t | 2fiy || €15t =l &

[Option ID = 11929]
2. Both Statement | and Statement Il are incorrect/eseot | Sz || Siotf @0kt &

[Option ID = 11930]
3. Statement | is correct but Statement |l is incorrect/w == | =21 2 , fsog w=m |l #em 2 |

[Option ID = 11931]
4. Statement | is incorrect but Statement Il is correct/=emt | sem &, frog =em || =8 &

[Option ID = 11932]
Correct Answer :-
e Both Statament | and Statement |l are correct/=em | &z || Sot == 2

[Opticn ID = 11929]

16) Books, cinema, television, radio, newspapers and computers are termed as:
Yaenl, Do, aclifester, 31330 3y el ol @el Si 3 :

[Question ID = 2984][Question Description = S1_qSNz_PG_EDU_Q56]
1. Traditional media/umaie #Hifgar

[Option ID = 11933]
2. Instructional media/ sReme #fEr

[Option ID = 11934]
3. Teaching media/fmsm #iE=r

[Option ID = 11935]
4. Social media/Fm HifEer

[Opticn ID = 11936]

Correct Answer :-
o Traditional media/mEnfs HiZ=r

[Opticn ID = 11933]

17) Following are the steps to curriculum change. Arrange them in a sequential order.
A. Re-examine the links between goals and course design

B. Gather data

C. Brainstorm the major issues and available information

D. Formulate, deliberate, and assess possible reform models

E. Analyse current teaching practices and learning goals

Choose the correct answer from the options given below
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[Question ID = 2985][Question Description = S1_qSNz_PG_EDU_Q57]
1. A,B,C, D, E

[Option 1D = 11937]
7. B, C,D,E A

[Option 1D = 11938]
3. E, A,B,C,D

[Option 1D = 11939]
4. D, E A,B,C

[Option 1D = 11940]
Correct Answer :-
e A B, CD,E

[Option 1D = 11937]

18) Which is NOT an example of curriculum change?

forgatferi¥aa 3 3 wia urrrl ufyada @ Icaror aél 87

[Question ID = 2986][Question Description = 51_qSNz_PG_EDU_Q58]
1. Introduction of a new degree program /u= o 2] Jers %1 yada

[Option ID = 11941]
2. Introduction of a new subject /o= o = =T TATor

[Option 1D = 11942]
3. Change to or within a subject /= e # =1 50 ofme oo

[Option 1D = 11943]
4. Upgrading the educational resource centre/SisiiTe F=rm $5 T Foor=

[Option ID = 11944]
Correct Answer :-
o Introduction of a new degree program fu= o 21 Oer# =T Tator

[Opticn ID = 11941]

19) Given below are two statements

Statement I: Comprehensive, content-rich curriculum is a common feature of academically high-performing countries.

Statement II: The impact of high-quality curriculum can be significant and matters most to achievement in the lower level

of schooling.

In light of the above statements, choose the most appropriate answer from the options given below

okl eI P fcu aw & :

@Yol - | 1 o i fage farr-arg arcll ugRrRE ekl a0 A 3T orl foeures SIar drcl Acc] Bl Hatel faeredr 8.
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[Question ID = 2987][Question Description = S1_qSNz_PG_EDU_Q5%9]
1. Both Statement | and Statement |l are correct/=sm | &z || Srot =2t &

[Option ID = 11945]
1. Both Statement | and Statement |l are incorrectf=am | &z || S0t o 2

[Option ID = 11945]
3. Statement | is correct but Statement |l is incorrect/w == | =21 2 , frog w=mt ll wem 2 |



[Opticn 1D = 11947]
4. Statement | is incorrect but Statement Il is correct/=smt | sem 2, feog wem |l =8t &

[Option 1D = 11948]
Correct Answer :-
® Both Statement | and Statement |l are correct/==m | &z || Sot == &

[Option 1D = 11945]

20) Given below are two statements

Statement I:  Curriculum studies as a field of research deals with questions found at the point of intersection between an
area of activity or knowledge, and education, teaching, learning and socialisation.

Statement Il: Curriculum studies is understood as both a disciplinary and an interdisciplinary field of study
In light of the above statements, choose the most appropriate answer from the options given below

ofldl Gl we e orw & ©

@ - | : v sigpHend S @ wu A wgerrl serel el Rpznasena sreran sier g1 sile g, seanuet, sitemE aen waslar & Yiiesca
féig wr g yssil W wHdlRie dlen .

e - || @ urRIaRIt 3reRIGT B 3EIRIA I ReRres ity sinfderes i) Siell Harsn ST 2.

IWfth Dol @ aiclle # fowatlciRaa faweul d A HalRie sugm 32 gol :

[Question ID = 2988][Question Description = 51_qSNz_PG_EDU_Q60]

1. Both Statement | and Statement Il are correct/=s=wor | v || SIot 78 8

[Option ID = 11949]
2. Both Statement | and Statement Il are incorrect/= = | iz || <ol s &

[Option ID = 11950]
3. Statement | is correct but Statement |l is incorrect/w=m | =dl 2, fvog =@ |l #wm 2 |

[Option ID = 11951]
4. Statement | is incorrect but Statement Il is correct/==m | siem 2, frog w=m | 78 2

[Option ID = 11952]
Correct Answer :-
e Both Statement | and Statement Il are correct/==wt | Sz 1l it == &

[Opticn ID = 11949]

21) Which study points to the fact that human brains treat each word as an image, which needs to be decoded before
being processed for meaning?

Tep sreerral i 391 a1 Bl slly dad Rp st & [op dlotd Aalaee Yo 9iss ol wor R @ U 3 9jgul @l 3 Bl aref @ fere ympling fepdr
Sttol @ yd feidienT @il &I snaeeadar usedl &7

[Question ID = 2989][Question Description = S1_qSNz_PG_EDU_Qé1]
1. Neurological Studies /=i FEsh semmor

[Option 1D = 11953]
1. Psychological Studies faoifsTior s=ro

[Option ID = 11954]
3. Physiological Studies/erisfgencss sEmrear

[Option ID = 11955]
4. Communication Studies /ZEEoT e

[Option ID = 11956]
Correct Answer :-
e Neurological Studies /e st arerer

[Option ID = 11953]

22) Presentation slides are most suitably meant to be-

UEicerel FellegH P Adiltrs IWRTh 3T9RT &-

[Question ID = 2990][Question Description = 51_qSNz_PG_EDU_Q62]
1. A transcript fe® giects

[Optien ID = 11957]
2. Avisual aid/wz zy=1 ermr Al



[Option 1D = 11958]
3. Alearning support/oF fEFH FEErT

[Option ID = 11959]
4. A teaching suppert /s {3150 Zermm

[Option 1D = 11960]
Correct Answer :-
® A transcript fuF titicts

[Option ID = 11957]

23) According to Kolb (1984), match the learning style with their respective characteristics as given in List | and List Il

List | List Il

Learning Style Characteristics

A, Accommodators |. Real life experience and discussion
B. Converger Il. Theories and facts

C. Diverger IIII. Hands-on learning

D. Assimilator IIV. Hands-on learning and theory

Choose the correct answer from the options given below:

I -1 3 €1 o it diferil @t 3 -1l 3 fow o1g afiergvil A wicd (1984) @ siglATy Hdlerd HiIfsmg :

prell -1 (siferemr giedl) el -1l (sifrerston)

A, HIRNSTGE |. Sidolrglpid 3iiv =i

B. sfvicHe Il. Brgie siiz a=x

C. st IIl. gearer sragiu afZem

D. wdista IV. geazr sxaglu siftem sily Brgia

offr fou ore firesedil 3 31 W a7 gfomw :

[Question ID = 2991][Question Description = 51_qSNz_PG_EDU_Q63]
1. A-I¥,B-1l,C-1,D-1I

[Opticn ID = 11961]
2. A-HLB-1,C-IV,D-1l

[Opticn ID = 11962]
3. A-L,B-U,C-1,D-I¥

[Opticn ID = 11963]
4. A-NLB-N,C-1,D-1l

[Option 1D = 11964]

Correct Answer :-
e A-IV,B-Il,C-1,D-1I

[Option 1D = 11961]

24) An Educational technologist is concerned with :

A. Designing instruction

B. Producing instructional materials

C. Managing instructional computing services or learning resources collections
D. Applying theories of cognition and research to utilize technology for the benefit of the learner
Choose the correct answer from the options given below:

Sigifdres gEifordiite wr Ader glar & :

A. 3firocy sigior A

B. slgIconcds HIH] AR Bl A

C. sigigoncae® ulyarclel Hdrall @ Ydtrel sredl MR HHkel Havclell H

D. aiteamdt 9 cmmarel Grenfordl Yirer o> fore afgener iy sifirsrel Rrgial @ spIgRieT 3
oflr f&w =1 fravedl of A1 w141 37 9ol :

[Question ID = 2992][Question Description = 51_qSNz_PG_EDU_Q64]
1. A,Band Conly/FamA, B3z C

[Option ID = 11965]
2. B, Cand D only/<ae1B, C &z D

[Opticn ID = 11966]



3. A, Cand D only/sa A, C =D

[Option ID = 11967]
4. A,B,CandD allf#=w1A, B, C a1 D

[Option ID = 11968]
Correct Answer :-
® A,Band Conly/@aaA, Bz C

[Opticn ID = 11965]

25) Which of the following is not a platform for MOOCs?
forgaiferf¥aea & 3 wiar MOOCs @ v Ciapid oiél 3?7

[Question ID = 2993][Question Description = 51_qSNz_PG_EDU_Q65]
1. SWAYAM/ =1

[Opticn ID = 11969]
7. SWAYAM-PRABHA /=T

[Option ID = 11970]
3. edX/edX

[Option ID = 11971]
4. Blackboard /===

[Option 1D = 11972]
Correct Answer :-
o SWAYAM/ =T

[Option 1D = 11969]

26) Which of the following is not a component of 'System Approach'?
forgarferiiaa af 31 ®lar ‘Tivew Ty @1 v ace odl 87

[Question ID = 2994][Question Description = S1_qSNz_PG_EDU_Qé6]
1. Feedback/$r=d=

[Option ID = 11974]
2. Weab Network /2ra Sr=r

[Optien ID = 11973]
3. Input/zere

[Option ID = 11975]
4. Process/d=

[Option 1D = 11978]
Correct Answer :-
o Wab Network /2= Sr=r

[Option 1D = 11973]

27) Asynchronous Learning approach does not include :

IAGEITe JaREW JureE # fowreferfiad & 3 aur onfier oidl g 27
[Question ID = 2995][Question Description = S1_qSNz_PG_EDU_Qé67]
1. Communication /=m0t

[Option ID = 11977]
2. Collaboration /=2t

[Option 1D = 11978]
3. Content Hosting/fwer-a=g sEe=

[Option ID = 11979]
4, Mathetics/afEFH F=mor ([#a2a=)

[Option ID = 11980]
Correct Answer :-
o Communication /=EoT

[Option 1D = 11977]

28) An instructional system that teachers can use to develop lesson plans which integrate the use of technology and media

is known as :
g 3lelcolcd® Yulell f3repr yRiler Rrel gt Yriidrdl sfiv difzer o i gier arcll un distel fieeha ®wl # fpar oI A% & :



[Question ID = 2996][Question Description = S1_qSNz_PG_EDU_Qé68]
1. Dick and Carey Model /2 o= =5t #i=m

[Option ID = 11983]
2. Synchronous Leaming Model /m==ftrr affem Alemt

[Option 1D = 11984]
3. ADDIE Model /ADDIE #=ct

[Option 1D = 11981]
4. ASSURE Model/ASSURE =ct

[Option 1D = 11982]
Correct Answer :-
e ADDIE Model/ADDIE #i=et

[Option 1D = 11981]

29) BigBlueButton is :

Tretecaca & :

[Question ID = 2997][Question Description = S1_qSNz_PG_EDU_Qé6%]
1. Web Conferencing System & Synchronous Learning Tool /3= =i et st Feierr afEem soream

[Option 1D = 11985]
2. Web Conferencing Systam & Asynchronous Learning Tool /2= =5 et &z arsriicrs AfteA S5 a0T

[Option 1D = 11986]
3. Learning Management System /af2Fm TE=mE oTET

[Option ID = 11987]
4. Recording & Editing Software Tool /G512 i srcer Acds suesm

[Option ID = 11988]
Correct Answer :-
o Web Conferencing System & Synchronous Learning Tool /35 = Brempmet &y siewiter afFm sus

[Option ID = 11985]

30) Podcast and Vodcast are useful for students with :
A. Dyslexia

B. Visual impairment with severe mental impairment
C. Severe mental impairment

D. Sound health

Choose the correct answer from the options given below:
diswne 3iiv disen< pa faeni2il @ fore sueisl 3-

A. Usadwed A A

B. zfteqiftia sily sivlly deiBiee wovr A o3

C. itz et Hevrar A T

D. yara

offr fow s froredl & 3 & S gai -

[Question ID = 2998][Question Description = 51_qSNz_PG_EDU_Q70]
1. A and Bonly/#=w1A Az B

[Option ID = 11989]
2. Aand Conly/aT A S C

[Option 1D = 11990]
3. AandD only/aT A S D

[Option ID = 11991]
4. A, Cand Donlyf#amA, C s D

[Option 1D = 11992]
Correct Answer :-
® A and B only/%=1A iz B

[Option 1D = 11989]

31) Which of the following factors resist Social Change?

A. Cultural Inertia



B. Fear of New Things

C. Scientific Invention

D. Physical Environment

E. Degree of Isolation

Choose the correct answer from the options given below:
Torgetferi¥aer 3 31 ®lel A wrw ARNTSTE ulade @1 Yierier we 37
A. Argpire sisar

B. ordliot <Isil @I 3R1

C. dsrfore snfiresn

D. siiferr ufyaer

E. geramIur @ Wi

oflr f&w =1 fravedl of A1 w141 37 9ol :

[Question ID = 2999][Question Description = $1_qSNz_PG_EDU_Q71]
1. A,Band Conly/FamA, B3z C

[Option ID = 11993]
2. A,BandDonly/$act A, B diz D

[Option ID = 11994]
3. A,BandE only/®ac1A, BA-E

[Option ID = 11995]
4. A, Cand Eonly/sam A, C A E

[Option ID = 11996]
Correct Answer :-
® A,Band Conly/@aaA, B C

[Opticn ID = 11993]

32) Match the Book given in the List | with their respective Author given in the List Il

List | List 1l
Book Author
\A. Karma Yoga I. M. K. Gandhi
B. Women and Evil Il. Sri Aurobindo
C. Ethical Religion Ill. Swami Vivekananda
D. Synthesis of Yoga IV. Nel Noddings
V. J. Krishnamurthy

Choose the correct answer from the options given below:

it -1 Bt grerst o T -1l D et B gk Bt

et -1 et -1
(g riteed
A, Tpat et |. war. o, afiedr
B. dldial ¥s et II. ¢l swldcl
C. eitrma fifersior . Fawil fedwreic
D. f¥efya sife ew IV. sier aifdes
V. i gpunglt

ofl<l [ow o1 fermetdi 3 21 W&l Far gfom :

[Question ID = 3000][Question Description = $1_qSNz_PG_EDU_Q72]
1. A-NILB-N,C-1,D -1l

[Opticn ID = 11997]
2. A-1,B-1I,C-1,D-I¥

[Opticn ID = 11998]
3. A-HLB-IV,C-¥, DIl

[Opticn ID = 11999]
4. A-1,B-l,C-I,D-V

[Option ID = 12000]
Correct Answer :-
o A-IlILB-I,C-1,D-1

[Opticn ID = 11997]



33) "Power as the central feature of society rather than thinking of society as held together by collective agreement
concerning a cohesive set of cultural standards as functionalists do” The statement indicates towards which of the following
theories?

" Hirpiire Hloldl @ BB HA™ HRRI @ Hael d YeRiar] B gol Jars ©f Agfee Heald A g dAleld &, IHE! sPle fth o JHT Bt
Dol TerdIedr dAlelall”, A& dl forroticiiaad & A fpr Bigia &I 3y 3| war 37

[Question ID = 3001][Question Description = S1_qSNz_PG_EDU_Q73]
1. Social Movement Theory /Fmfwr Foror SEmT

[Option ID = 12001]
2. Conflict Theory /= i

[Option 1D = 12002]
3. New Social Movement Theory /e Sors ST B

[Option 1D = 12003]
4. Political Process Theory/wrfitrs gtz g

[Option 1D = 12004]
Correct Answer :-
o Social Movemneant Theory f=mors s S

[Option 1D = 12001]

34) Match the School of Philosophy given in List | with the respective Metaphysics given in List Il :

List | List Il

School of Philosophy Metaphysics

A, ldealism |. The world is "characterised throughout by process and change”

B. Realism Il. The cosmos is made up of number of entities having various relations to one another and various
’ qualities

C. Naturalism Ill. A surrounding world which is spiritual

D. Pragmatism IV¥. Nature in terms of process rather than either substance or structure

Choose the correct answer from the options given below:

it -1 i St orf cofar ermarsit w1 A -1 3 € o ara-aflaniar # il Hifne :

et -1 gt -1
colal  onzar erea-flaian
A,
|. a6t " iz afyader Tergtaen J&1 3"
cetars HAR g 3 Held fergl
B. 1. geNvs 3ol drdl H el @3 doll 3 Riald v i @ HIY ol
rremefare  [dder 3iiv stolae Spur 8.
c. Il. wor yferasht Har smenfcaes o &
D.

crcendlc |V, gerel AT HIkrell Pl aeIRT Yo @ Hoodl A yofer

ofl<l [ow o1 fermetdi 3 21 W&l Far gfom :

[Question ID = 3002][Question Description = 51_qSNz_PG_EDU_Q74]
1. A-NILB-N,C-IV,D-I

[Opticn ID = 12005]
2. A-1,B-1L,C-1L,D-IV

[Opticn 1D = 12006]
3. A-ILB-1L,C-1L,D-IV

[Opticn ID = 12007]
4. A-1,B-1Il,C-1¥,D -1l

[Opticn ID = 12008]

Correct Answer :-
e A-IILB-I,C-IV,D-I

[Opticn ID = 12005]

35) Arrange the following in order according to the Eight Limbs of Yoga :
A. Niyvama

B. Asana

C. Dhyan

D. Pranayama



E. Pratyahara
Choose the correct answer from the options given below
3recisl 2sT @ igLArr Terratfeiidaar @1 18l oo 9= 2 :
A Tormar
B. sirda
C. &mot
D. gromema
E. yeame
offr fow s froredl & 3 & S gai -
[Question ID = 3003][Question Description = S1_qSNz_PG_EDU_Q75]
1. A,D,C, B, E

[Option 1D = 12009]
2. A,B,D,EC

[Option 1D = 12010]
3. A,D, B, E,C

[Option 1D = 12011]
4. C,E, B, A D

[Option 1D = 12012]
Correct Answer :-
e A D C B, E

[Option 1D = 12009]

36) 'Mind is merely a function of the brain, an overtone accompanying bodily activity. It is an onlooker at events, never
influencing them' belongs to :

'Hol AB T @1 dael v YR 3, As ol [ippnasadl o1 ww siféret 3. 28 geotisll ol cole didn &, 3od ol yuilan oél oL’ a8 e
Hefewr &7

[Question ID = 3004][Question Description = 51_qSNz_PG_EDU_Q76]
1. Parallelism /zmrwar

[Option 1D = 12013]
2. Interactionism /fam:gEmac

[Option ID = 12014]
3. Epiphenomenalism/zdiraicarc

[Option ID = 12015]
4. Absolutism/gzmac

[Opticn ID = 12016]

Correct Answer :-

e Parallelism /o

[Opticn ID = 12013]

37) The Preamble of our Indian Constitution has a sequence of :
A. Justice

B. Equity

C. Equality

D. Fraternity

E. Liberty

Choose the correct answer from the options given below
SHIY U o Hiend 3 TordelleiRard o o & :

A. AT

B. maar

C. AAToic

D. dgra

E. ¥aricen

offr fow s froredl & 3 & S gai -



[Question ID = 3005][Question Description = S1_qSNz_PG_EDU_Q77]
1. AE, C, D

[Opticn ID = 12017]
7. A B, E,D

[Option ID = 12018]
3. A,C, D, E

[Option 1D = 12019]
4. AE, D, C

[Option 1D = 12020]
Correct Answer :-
e AE CD

[Option 1D = 12017]

38) Stratification in society is based on-
HAT & WidwIor srenfye g &

[Question ID = 3006][Question Description = S1_qSNz_PG_EDU_Q78]
1. Power, Property and Prestige/ofes, Fafer &z giemar ™

[Option 1D = 12021]
2. Culture, Caste and Class /Sizga, =i diz @i u

[Option 1D = 12022]
3. Education, Earning and Empowerment/f21ar, st Sz seiipe wor oz

[Option 1D = 12023]
4. Motivation, Mobility and Material possession/ipom, =ifeterT i it o=

[Option 1D = 12024]
Correct Answer :-
e Power, Property and Prestige/¢iftr, smftt oflv yiemer @

[Option 1D = 12021]

39) “What we want is progress, development, realization. No theories ever made human being higher. No amount of books
can help us to become purer. The only power is in realization and that lies in ourselves and comes from thinking. Let Human
Being Think!” is a statement of :

g gpiiet, fereeT sits st aied &. feesll sft Dagia of aigesr ot Icae oiél dern 8. fepdefl sft graas user A & siiv siftres uftng ol aar
Wl wop ke 91Tt stgpufer A 8iell 3 iy as rari sadl foifaa 3 il River W g 31l 3. #g=1 @l Ridol @l Sil” as Reaer o 87

[Question ID = 3007][Question Description = S1_qSNz_PG_EDU_Q79]
1. J. Krishnamurthy /% sl

[Option ID = 12025]
2. Rabindranath Tagore /<fRiogoms: 251y

[Option ID = 12026]
3. Mahatma Gandhi/#amcer si=i

[Option ID = 12027]
4. Swami Vivekananda/zawl Raiwoic

[Option ID = 12028]
Correct Answer :-
o J. Krishnamurthy /% sermafel

[Opticn ID = 12025]

40) Which of the following statements is not correct in case of "Wollstonecraft'?
‘dicirclerpue’ @ Hder i logaleilaa el # A ia W1 wore #8l odl 87

[Question ID = 3008][Question Description = 51_qSNz_PG_EDU_Q80]
1. Wollstonecraft was an English writer, philosopher and advecate of Women's Rights. /aiceclomioe ve 368l draw, ceiftrr diy ®i2er affmst & e &L

[Option ID = 12029]
2. Wollstonecraft is regarded as one of the founding feminist philosophers. fAoclome ! apfFe orElar! crelees! # 21 we Ao @ 2.

[Option ID = 12030]
3. Wollstonecraft's first sole-authored book is ‘Caring: A Feminine Approach to Ethics and Moral Education'/dicsclomgide &1 tecl afcr- 7RI g ‘$aiien o
STATEE T ¢ BEA T AT BFPOE B

[Option ID = 12031]
4. The majority of Wollstonacraft’s early productions are about education. /A= mrrT #1 AfFRERT AR Toom T9eT FEaf .

[Option ID = 12032]

Correct Answer :-



o Wollstoneacraft was an English writer, philosophar and advocate of Women's Rights. /ar=Ioms v 3681 o, oot S #iger aftmnt & s a

[Opticn ID = 12029]

41 ) Education was brought into the Concurrent list by

forafe¥aa & 21 e Zer fB1an o7 el 73t | oren orn?

[Question ID = 3009][Question Description = S1_qSNz_PG_EDU_Q81]
1. 41t Amendment of the Constitution /41T Sieerer wetem

[Option ID = 12033]
2. 42 Amendment of the Constitution /424t wiffere: Skiert

[Option ID = 12034]
3. 43" Amendment of the Constitution /4341 wiffere: Skiee

[Option 1D = 12035]
4. 44™ smendment of the Constitution /44 Sifere Seiem

[Option 1D = 12038]
Correct Answer :-
e 41°" Amendment of the Constitution /41= SiEem Sl

[Option ID = 12033]

42) A group of institutions had invested Rs 200 Cr in the year 2010 to improve the Learning Outcomes of their students. In
order to know whether the investment has yielded the desired results, the group should perform :

fep il verrel H3E of act 2010 & arvel frenfPRil o e gienkddl # Jene @ forg 200 ©is ORI @l forder Rpr. As siiclel @ Ty ftp o=
Torarer @ aiféver oleilst Ure gu &, AHE oI forfderidaed 3 A aam oven wiizy?

[Question ID = 3010][Question Description = S1_qSNz_PG_EDU_Q82]
1. Cost benefit Analysis/=mrT mm R

[Option 1D = 12037]
2. Tangible benefit Analysis /= mms e

[Option ID = 12038]
3. Intangible benefit Analysis /ze o fedeor

[Option ID = 12039]
4. Cost effectiveness Analysis/ e genfaear Ardan

[Option ID = 12040]
Correct Answer :-
o Cost benefit Analysis /ot e e

[Option ID = 12037]

43) Which of the following curriculums is more susceptible to political influence?
forgaferiiaa 3 3 wia A urgRrRl Ikt gpra 3 sftee g grd 87

[Question ID = 3011][Question Description = S$1_qSNz_PG_EDU_Q83]
1. Higher Education curriculum /== TSrs1 tmrrrt

[Option ID = 12041]
2. School Education curriculum/f&encelt fower mgeesf

[Option ID = 12042]
3. Vocational Education curriculum feemesnfEes Bier womerr

[Option ID = 12043]
4. Teacher Education curriculum /zeas {30 aoeest

[Option ID = 12044]
Correct Answer :-
e Higher Education curriculum/s=rtz Bisr wg=aat

[Option 1D = 12041]

44) The primary belief of Existentialism is :

sif¥iraare @I g faar 3 :

[Question ID = 3012][Question Description = 51_qSNz_PG_EDU_Q84]
1. Essence precedes Existence /ora aif3ticg 3 usdt o &

[Option 1D = 12045]
2. Action precedes Intuition /fg=r serderr 31 uedt ard 2

[Option 1D = 12046]



3. Intuition precedes Action /s=TierT fser 3 uEtt Al &

[Option ID = 12047]
4. Existence precedes Essence/af3ea oo 3 o=t AT &

[Option ID = 12048]
Correct Answer :-
e Essence precedes Existence faca afdoea 310=eT amm &

[Opticn ID = 12045]

45) The concept of Latent Learning was advocated by :
3D siffem & srEnsen @ ugl A fopsder oo foar?

[Question ID = 3013][Question Description = S1_qSNz_PG_EDU_Q85]
1. Piaget/frrs

[Option ID = 12049]
2. Tolman/Zretdo

[Opticn 1D = 12050]
3. Hull/zzt

[Optien ID = 12051]
4. Bloom/==m

[Option 1D = 12052]
Correct Answer :-
e Piaget/frra
[Option 1D = 12049]

46) A history teacher arranged a visit of students to local historical monuments, while teaching Ancient Indian architecture.

This is an example of :

qreiiel silRn Femuca Uglel @ il B siier RBigre of fenfRial o fore remsila vieaiie sandl 9> HgoT &f caasem &l a8 361690 & ©

[Question ID = 3014][Question Description = S1_qSNz_PG_EDU_Q86]
1. Activity based teaching /oo amenfi s =1

[Option ID = 12053]
2. Experiential teaching/ zmomiferr B1s01 =7

[Option ID = 12054]
3. Blended teaching/ffEm famo =1

[Option 1D = 12055]
4. Project based teaching/afieeT amEnfia 9ot =1

[Option 1D = 12056]
Correct Answer :-
o Activity based teaching /ey amenfa fHem w1

[Option ID = 12053]

47) The family of models which is more concerned with intellectual skills and acquisition of knowledge by the students :

ag Yfereu ufyar st feEnfil @ dilge wieret iy sielsiel A aiftre HdlRma & :

[Question ID = 3015][Question Description = 51_qSNz_PG_EDU_Q87]
1. Behaviour medification Family /emer wf¥ader ufiar

[Option ID = 12057]
2. Social interaction Family /smanfss acfEser ufiar

[Option ID = 12058]
3. Information processing Family /zzen g ufiarw

[Option ID = 12059]
4. Personal Family f&=ftre ot

[Opticn 1D = 12060]

Correct Answer :-
e Behaviour modification Family/=m=r ofyeadfe affars

[Opticn ID = 12057]

48) The major contributor to the theory of communicative reason and communicative rationality was :

HUEOICA® da iz Aquuicae al@ed Bigia d gy deceed 9 :



[Question ID = 3016][Question Description = S1_qSNz_PG_EDU_Q88]
1. Habermas feazr=

[Option ID = 12061]
2. Allan Luke focwer =

[Option 1D = 12062]
3. Deng -Xiao- Ping /&1 faams fier

[Opticn 1D = 12063]
4. Schulman/g=fat

[Option 1D = 12064]

Correct Answer :-
e Habermas /&A=

[Option 1D = 12061]

49) In a Socialist economy, the aims of education, curricula and methods of teaching are determined by
A. welfare of the society

B. market forces

C. democratic ideals, secularism, modernisation

D. social reforms and national development

E. aspiration of private stakeholders

Choose the correct answer from the options given below:

Tepil wasIaId] sreicrarer & Risn o edkr, urRERI siie iz el oefba & &

A. HATS DAl H

B. oIk & orfip=il 31

C. diceaifede sneell, emfsnusrdar, ameffordbiamor 3
D. wmiferas Jem siiy asdler e 3

E. forslt f&mensent bt smepigimali 31

oflr f&w =1 fravedl of A1 w141 37 9ol :

[Question ID = 3017][Question Description = S1_qSNz_PG_EDU_Q89]
1. A, B, Donly/

a1 A, B, D

[Option 1D = 12065]
2. A, C Donlyfe=A, C, D

[Option ID = 12066]
3. B, C, Eonly/d5a=1B, C, E

[Option ID = 12067]
4. C, D, Eonly/$a=C, D, E

[Option 1D = 12068]
Correct Answer :-
e A, B, Donly/

a1 A, B, D

[Opticn ID = 12065]

50) Recommendations by the Secondary Education Commission (1952-53) regarding teachers training were
A. Two types of institutions for teacher training

B. Training colleges should conduct research work

C. Teacher Training colleges should charge fee from the students

D. Residential facilities for teacher trainees

E. Admission for masters degree in education for graduates in any discipline

Choose the correct answer from the options given below:



sreIul @ R & Al RS smeieT (195 2-53) &I Breifyer off

A. srenud yidrevr @ v €1 yar & oy

B. qidrgor asiidEncral o oiter RE Jiierd oo widw.

C. s yfdrgrr #eridercril ol faenii ur 9ew quifyd oo mise
D. seznae gidregsi @ e snandfler ylaend

E. fepail 9t forerr @5 Fomael @ ferg f3g0r & Forraoi? 139 @ fore smaicwer
ofldl 13w ore faraeeull & 3 51l 3av gol :

[Question ID = 3018][Question Description = 51_qSNz_PG_EDU_Q90]
1. A, B, Donly/&== A, B,D

[Option ID = 12069]
2. B, C, Donly/@a=1B, C, D

[Optien ID = 12070]
3. A, C Eonly/f@a A, C E

[Option ID = 12071]
4. A, B, Conly/%=am1A, B, C

[Opticn ID = 12072]

Correct Answer :-
® A, B,Donly/s=e1A, B,D

[Opticn ID = 12069]

51) The courses hosted on SWAYAM platform have
A. video lectures

B. self-assessment tests

C. credit transfer for all learners

D. offline discussion forums

E. exclusively prepared reading material

Choose the correct answer from the options given below:
FaRi wlawiaf U Iucteer uigRIapdil 3 Sk &

A. fafsan et

B. ¥a-yciicsal udleior

C. il R lsil @ forg wfsesiazor

D. siiwenge == aie

E. swoled wu A & 6 513 ude ARl

oflr f&w =1 fravedl of A1 w141 37 9ol :

[Question ID = 3019][Question Description = $1_qSNz_PG_EDU_Q91]
1. A, B, D only/#==1A, B, D

[Option ID = 12073]
2. B, C, D only/d5a=1B, C, D

[Option ID = 12074]
3. B, C, Eonly/d5a=1B, C, E

[Option ID = 12075]
4. A, B, E only/$ac1 A, B, E

[Opticn ID = 12076]

Correct Answer :-
® A, B,Donly/F==1A, B, D

[Opticn ID = 12073]

52) The objectives of induction training of teachers are :-

A. to acquaint them with general & specific duties and responsibilities.

B. to acquaint teachers with school organisation and its policies

C. to develop skills and attitudes responsive to emerging national development goals and programmes

D. to inform them about equipments, materials and facilities available in the institution



E. to develop teaching skills and impart content knowledge

Choose the correct answer from the options given below:

Rrerel @5 yadar Yl or sgea 3 :

A. Foll AIe wd e wder sl savoilRicg @1 uiRrT @velr

B. Rprmi oI Remerikr FHower va 3ad! dfiferil 3 ufdfaea wer

C. ordlor el fawr agil iz eriadl @ Yl sigftpznelia wlekdl sfiv casrR! @ fdert
D. Sorel H¥er #f IucTeer IUdsIvT , HHRjl 3iiv JAferemsil Bl Fereyerer aver

E. Trgrur wlokt sfiv fererI-aag @l <iiel Yglol Dell

offl few a1v feraseul & A WEl 37 9ol :

[Question ID = 3020][Question Description = $1_qSNz_PG_EDU_Q92]

1. A, B ,Conly/@=TA, B i €

[Option ID = 12077]
2. A, B, Donly/#=w1A, B sz D

[Option ID = 12078]
3. B, C,Eonlyf#=1B, C i E

[Option ID = 12079]
4, C, D, Eonly/®ac1C, D div E

[Option ID = 12080]
Correct Answer :-
e A,B,Conly/dsacA, B diz C

[Option ID = 12077]

53) Match List | with List Il

List | List Il

Education Commission Chairpersons

IA. University Education Commission|l. Dr. D. 5. Kothari

B. National Knowledge Commission |Il. Sam Pitroda

C. Education Commission Ill. Dr. L. Mudaliyar

D. Secondary Education Commission|lY. Acharya Ram Murthy|
|V. Dr. Radhakrishnan

Choose the correct answer from the options given below:

el -1 gl -1l iR Bl

et -1 gl
FOIZIT SIRTIBT BrERIST
A, TeraftencrRn e sRist I. i Sl i et
B. IT6{RT Silol SIRIST 1. & Rieier
C. Pdr sm=ier 1. St war yerr
IV. arari war gfel
D. meafdas Tdreir sRilst .
V. I Irenazeurer

ofikr few ame fawedl & W W8 397 gfoe :

[Question ID = 3021][Question Description = $1_qSNz_PG_EDU_Q93]
1. A-V,B-Nl,C-1,D-I

[Option ID = 12081]
2. A-V,B-1,C-1,D-1l

[Option ID = 12082]
3. A-IL,B-1I,C-1,D-¥

[Option ID = 12083]
4. A-ILB-IV,C-1,D-1l

[Option 1D = 12084]

Correct Answer :-



e A-V,B-l,C-1,D-I

[Opticn 1D = 12081]

54) Match List | with List Il

List | List Il

Training types Major Objective

IA. Pre-service teacher training |l. acquaint new entrants with duty and reponsibility
B. Practice teaching Il. upgradation of knowledge

C. Induction training Ill. to develop teaching skills

D. In-service teacher training [IV. understanding aims &objectives of education

Choose the correct answer from the options given below:

3t -1 @ gt -1l 3 ghifera St -
et -1 gt -1
JiREvr ol g @ 3891

A ey R || oo siiy SascIRica o AT ol gaere @ UfRRr ar
[fdrgror [SIGIPIST YT ol

B. snRmrA fBrsror |II. Sllol @I Joollol

C. yariar yfdrzor  |lll. fdreror wiort oot faap

P- Rorgre IV. iz o 221 wd g9 &bl HaAsT

g ror
ofl<l [ow o1 fermetdl & 21 W&l Fd? i :

[Question ID = 3022][Question Description = 51_qSNz_PG_EDU_Q94]
1. A-1,B-1,C-1l,D -1V

[Option ID = 12085]
2. A-1L,B-1V,C-1,D-1ll

[Option ID = 12086]
3. A-IILB-IV,C-1,D-1l

[Option ID = 12087]
4 A-I,B-1LC-1,D-1l

[Option ID = 12088]

Correct Answer :-
® A-I,B-1,C-ll,D-IV

[Opticn ID = 12085]

55) Arrange the following in chronological order of being established :
A. NCTE

B. NCERT

C. UGC

D. BHU

E. NIEPA

Choose the correct answer from the options given below

E.waraEddig

ofl<l [ow o1e fermotd 3 31 2&1 Idr gof ©

[Question ID = 3023][Question Description = 51_qSNz_PG_EDU_Q95]
1.D,CB,E, A

[Opticn 1D = 12091]
2. C,A, B, E D



[Opticn 1D = 12092]
3. D,B,C, A E

[Opticn ID = 12089]
4. B,C, A D,E

[Option ID = 12090]
Correct Answer :-
e D,B,C, AE

[Opticn ID = 12089]

56) The order of activity in advance organiser model of teaching is :
A. presentation of learning task/material
B. strengthening cognitive organisation
C. presentation of advance organiser
D. clarification of students’ problems
Choose the correct answer from the options given below
Targmor o5 A SRS diser 3 sifefafir oot o &: -
A. st @Rl / aftew Aeell S yrgl
B. Sdecad Holdol BT HEGIPI0T
C. e Porzior waell &I yrgler
D. ol B =il @ FaediaIur
oflr f&w =1 fravedl of A1 w141 37 9ol :
[Question ID = 3024][Question Description = S1_qSNz_PG_EDU_Q96]
1. A,B, D, C

[Option 1D = 12093]
2. C,A, B, D

[Option 1D = 12096]
3. C,B,A, D

[Option 1D = 12094]
4. B,ACD

[Option ID = 12095]
Correct Answer :-
e AB, D, C

[Opticn ID = 12093]

57) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: The teacher must be at the centre of fundamental reforms in the education system.
Reason R: The teachers shape the next generation of nations’ economy.

In light of the above statements, choose the most appropriate answer from the options given below
ofRI o Trerar fow o & . wae o arfiresemer (A) sfiz o313 @ a@ (R) warsrm &

sfirperet (A) @ Toreraes @ Rigr yumedl & JerarT JeRl @ dxg Ji Slal wuidy

aad (R) : Rre e &l sreferaren I sewedl Wl ol suen od 3

IWh el @ aclie 3 foeatifipa el & 3 w4l 397 gol ¢

[Question ID = 3025][Question Description = S1_qSNz_PG_EDU_Q%7]

1. Both A and R are correct and R is the correct explanation of A/(A) 3z (R) Srett = & &z (R), (A) &t =@ == &

[Option ID = 12097]
2. Both A and R are correct but R is NOT the correct explanation of A/(A) 3z (R) <ot =1l 2 wag (R), (A) 1 =1 s ol 2

[Option ID = 12098]
3. Aiscorrect but R is not correct/(A) 2l 8 wog (R) =@ <@l 2

[Option ID = 12099]
4. Alis notcorrect but R is correct/(A) =l ol 2 woyg (R) =l &

[Option ID = 12100]
Correct Answer :-
e Both A and R are correct and R is the correct explanation of A/(A) iz (R) <iot =2 2 5w (R), (A) &1 =8 == 2

[Option 1D = 12097]



58) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: The effectiveness of an in-service training programme depends on the appropriateness of the content,
relevant to the objectives of training and has the potential to meet the training needs of the target group.

Reason R: The mismatch between objectives, content and needs of the training leads to wastage of resources.

In light of the above statements, choose the correct answer from the options given below

offr of Paa ke s & 1w @ sifireerer (A) 3ii? o33 @ o (R) wersrm

sif¥rpear (A) 1 Adard yideor erfox S guiaeiican Ape]l & 38w ur nfy ol &, st gfdeior @ el @ kv ynilbdre 3 sfiv o
HYg Bl YRG0 Maeaedmsii @I [T ol Pl SIHr 38wd &

a® (R) : IEe , AHC) 3fiT YRAZIOT Wl sereITdr @ &I #et of Slol W ARG df galst df 2t &

Iwfth Dol @ atclle # fowetilepd famedl i 3 38l sa gl :

[Question ID = 3026][Question Description = 51_qSNz_PG_EDU_Q98]

1. Both A and R are true and R is the correct explanation of Af(A) =iz (R) cIoil = 2 &z (R), (A) <1 28 w8

[Option ID = 12101]
2. Both A and R are true but R is NOT the correct explanation of A/{A) iz (R) grett =@t € =g (R), (A) 1 =gt == o8 £

[Option ID = 12102]
3. Ais true but R is false/{A) =&t £ m=g (R) ==t &

[Option ID = 12103]
4. Ais false but R is true/{A) =t =i £ w=g (R) =&t €

[Option ID = 12104]
Correct Answer :-
e Both A and R are true and R is the correct explanation of A/(A) i (R) Sroit =t & &t (R), (A) & =& weer &

[Opticn ID = 12101]

59) Given below are two statements

Statement I: The aim of education in ancient India was not just the acquisition of knowledge as preparation for life in this
world, or life beyond schooling, but for the complete realisation of the self.

Statement Il: The aim of education should be cognitive development equipped with 21st century skills only.

In light of the above statements, choose the most appropriate answer from the options given below

of I ©f werel few a1e & :

®gel - | 1 yRilal M & RIS ®I 389 A P 3 Silder Pt 3T o 30 & A1 fercrr A w3 Sildel d g siiol IR o8l or, ity ¥t
o Hyul ancaarer @ fore e

weorel - ;s of 389 dact 21 dl W&l @ wlora A ubyyi sistciae ot dler @iz

Frfer wedl © el # raferRaa faedl & 3 Hales 3wy 3= gfon:

[Question ID = 3027][Question Description = S1_qSNz_PG_EDU_Q99]
1. Both Statement | and Statement |l are correct/=sm | &z || Srot =2t &

[Option 1D = 12105]
2. Both Statement | and Statement Il are incorrect/w et | Sz || Siof =@t ol &

[Option ID = 12106]
3. Statement | is correct but Statement Il is incorrect/==wm1 | 21l 2 , forog == || wdt ol 2 |

[Option ID = 12107]
4. Statement | is incorrect but Statement Il is correct/==m | 72t o8t 2, feog Fem |l 72t 2

[Option ID = 12108]
Correct Answer :-
e Both Statement | and Statement Il are correct/==wt | Sz 1l iet =t &

[Option 1D = 12105]

60) Given below are two statements

Statement I: Teacher education should be provided in all standalone TEls as it requires high-quality content as well as
pedagogy and multidisciplinary inputs.

Statement |l: Regulatory efforts of teacher education regulatory body are able to curb the malpractices and able to enforce
basic standards for quality in teacher education.

In light of the above statements, choose the most appropriate answer from the options given below



of I ©f werel few a1e & :

Wl - | 1 DRrera-Rism @ wil segpee TEI 3 ygior fovan stern @iy ax=iiie 33 sor spiaan arefl Ame] @ we-Are Ry, si gg-
ferereres forfarfte <F smagaesar ekt

wud - || 1 Prre Rren isriae rerr & falermae g ayensiliur siaer dedl sfiv Rrre Rien d sjvaar @ fée gierns! arel ol dsy
wvol o HETH &

IWh Dl @ e 3 fomatfearfiaa fredi & ¥ Wé 397 g :

[Question ID = 3028][Question Description = S1_qSNz_PG_EDU_Q100]

1. Both Statement | and Statement Il are correct/=rzm | otz || Frotf =8 &

[Option ID = 12109]
1. Both Statement | and Statement |l are incorrectf=am | &z || S0t o 2

[Optien ID = 12110]
3. Statement | is correct but Statement |l is incorrect/zsm | =1 &, frag wam |l sem £ |

[Option ID = 12111]
4. Statement | is incorrect but Statement Il is correct/=smr | & I 8, g wa= |l =& £

[Option 1D = 12112]
Correct Answer :-
e Both Statement | and Statement |l are correct/==m | &z || Sot == 2

[Option 1D = 12109]








